Q.24 a) Explain the toothing method of bondfhg neY
brickwork with the old onc.
b) Describe the procedurc of construction of Joad
. bearing one brick thick wall in Flemish Bo?
with the help of diagram.
Q.25 a) Explain the process of installation of sliding
door. ‘

b) Explain the process of preparation of floors fof |

woodecn flooring.

(3380) 4)
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SECTION-A
Note: Multiple choice questions. All questions are
compulsory (6x1=6)

Q.1 The minimum depth of foundation for building on

clayis
a) 0.4t00.6m b) 0.6t009m
c) 0.2t00.4m d) 09tol.6m
Q.2 Apartition wallis designed as aload bearing wall.
a) True b) False

Q.3 The portion of the brick without a triangular comer
equal to halfthe width and halflength, is called.

a) Closer . b) Kingcloser
¢) Queencloser d) Squintbrick

Q.4 The projection which help in securing the head of :
door frame to the masonry, arc called

a) Stops b) Styles
c) Reveals d) Homs

(1) 22073
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Q.5 The moisture frop, ground riscs through
and affectg the matgrials within the building.
a) capillary action b) porcs
¢) gravitationaleffect d) intcrmediatespace
Q.6 When the span exceeds 4.8 M and when there is no
inside supporting walls for Purlins, the frame
structures adopted, knownasthe___
a) Singlcroofs b) Doubleroofs
c¢). Purlinroofs d) Trussedroofs
SECTION-B
Note: Objective/ Completion type questions. All questions
are compulsory. (6x1=6)
Q.7 The part of thc building constructed below the
ground level is referred as (Foundation or
sub-structure / Super-structure)
Q.8 The brick laid with its length perpendicular to the
face of the wall is called a (Strecher /

Header)
Q.9 The highest point on the extrados is called
(Style/ Crown)
Q.10 In system, the use is made of doors,

windows, ventilators and skylights to make the room

properly ventilated. (De-ventilated / Natural
Ventilation)

Q.11 is known as the lower edge of an inclined
roof surface. (Eaves/ Style)

(2) 220734

Q.12 };lf:h Is cxpressed as a ratio of, to span.
(Ridge/Rise)

SECTION-C

Note: Short answer type questions. Attempt any cight
questions out of ten questions. (8x4=32)

Q.13 Writcashort notc on dado tile works

Q.14 Describe the procedure of layout of half turn stairs.
Q.15 Writeashortnotc on*“PVC Falsc Ceiling”.

Q.16 Writcashort notc on*‘Level and Slope in kitchen®.
Q.17 Describe theill-cffects of dampness in abuilding.

Q.18 Writc and discuss the different types of fixtures and
fastness used for wndow frames.

| Q.19 Writethe various functions of an arch.

Q.20 Describe the process of construction of brick
masonry retaining walls,

Q.21 Writeashortnote on “Wooden Partition Wall”,

. Q.22 Write any eight requirements for a building to be a

good building.
SECTION-D

‘1 Note: Long answer type questions. Attempt any two

questions out of three questions. (2x8=16)

| Q.23 a) Explain the proccss of preparation of plastered

surface for stone cladding.

b) Describe the specifications to be taken into
consideration for the excavation and
construction of escalators pits

(3) 220734
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Q.35 Differentiate betwecn prismatic compass & m:UMW.OS

compass.
SECTION-D WO

Note: Long answer typc questions. Attempt mawxwe

g questions out of thrce questions. Amxw
Q.36 The staff reading recorded for a survey Eo?ﬁéo 56
follows. First reading was taken on a B.M | < by
R.L is 160.150. Find out the R.L’s of all mpucom 04)

Risc and Fall method. -

B.S FS |
1 1680

Station LS

et

(2]
.
&
-
wn

3 1.735 :
4 0570 1.325
5 1.560
6 1.785
7 1270
Q.37 Explain three point problem? Discuss the trial &
error method of solution of problem. AOO&

Q.38 The following bearings were observed while

traversing with a compass. AO.va
Line FB BB
AB 80°45’ 260°00°
BC 130°30° 311°35°
CD 240°15° 60° 15’
DA 290°30° 110°10°

Mention which stations were affected by local’

attraction and determine the corrected bearings.

(2200) 4)
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N SECTION-A .
Ote: Multiple choice questions. All questions are
compulsory : (10x1=10)
Q.1 Ametallic tape is made of (COD)
a) Linen b) Clothand Wires
c) Invar d) Steel
Q2 Themaximum tolerance ina30mchainis ~ (CO2)
a) +2mm b) +6mm
¢) +5mm d) +8mm
Q.3 The rise and fall method of reduction of levels,
provides a check on (CO4)
a) Backsights b) Foresights
c) Intermediatesights d) Alloftheabove
Q4 Surveyused for infrastructure projects (COon
a) Military survey b) Minesurvey
c) geologicalsurvey d) Engineeringsurvey
Q.5 Length of Engineering chain is (CO2)
a) 20m b) 30m
) 66ft d) 100ft
Q.6 In geodetic survey higher accuracy is achieved, if
(CO1)

a) Curvature ofearthisignored

b) Curvature of earth is taken in account

c) Angles between the curved lines are treatedas
plane angles :

d) Noneoftheabove

(1) 180733/170733/120733
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Q.7 Sensitivenesg ofa level tub¢ is designated by (Coyq v

0 sus of level tubc
a) Radius o:o(&_ Hibe

tho
MW WMMM:“ of bubble of level tube
ne of these |
Q.8 %vrn wugom on which the framework of the survey
butilt is known as . AOON_
a) Checkline b) Baseline

¢) Tieline d) Noncoftheabove

Q.9 The type of surveying which requires last offje,
work is . (COs,)
a) Trigonometrically levelling
b) Techeometry
c) Theodolitesurveying
d) Planetablesurveying . . e
Q.10 If the whole circle bearing of a line is 180", its

reduced bearing is . . (Cozy

a) SO°E b) SOW

c) S d) N

SECTION-B ;

Note: Objective type questions..All questions arg

compulsory. ) (10x1=10)
Q.11 Definemagnetic declination (CO3)
Q.12 Differential Levelling is also called. (CO4g)
Q.13 Define oblique offset. (CO2)
Q.14 Define Dip. (CO3)
Q.15 Define Centering. (CO3)
Q.16 Defineline of collimation. (CO4)
Q.17 Definebearing ofaline. . (CO3)
Q.18 Define linear measurement. (COl)
Q.19 Defineaxis of bubble tube. (CO4)

(2)  180733/170733/120733
/030733
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Q.20 “Write the use of U-fork in plane table surveying.
(CO5)
SECTION-C
Note: Short answer type questions. Attempt any twelve
questions out of fifieen questions. (12x5=60)
Q.21 What do you understand by working from whole to

part. . . (CO1)

Q.22 Explain the orientation by back sighting method.
(CO5)

Q.23 What are the advantages and disadvantages of plane
table surveying? (COS5)

Q.24 Whatarethe classification of levelling. (CO4)

Q.25 Whatis BenchMark. Give their classification.(CO4)
Q.26 Themagnetic bearing of line AB is S 38° 30’ W. What
its true bearing if declination is 4° 15’ towards west.
(CO3)

Q.27 What arc the source of error in chain surveying?
: (CO2)

Q.28 Define levelling staff and how they are classified?
o (CO4)

Q.29 Differentiate between Height of instrument method
and Rise and Fall method of reduction of level (CO4)

Q.30 Explain the process of temporary adjustment of a

dumpy level. (CO4)
Q.31 Name the different equipment used for plane table
surveying. (CO5)
Q.32 Name the different equipments used in chain
surveying. (CO2)
Q.33 Explain Intersection method of plane table
surveying. (CO5)

Q.34 Whatis local attraction? How is it eliminated?(CQO3)

(3)  180733/170733/120733.
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Q.30 Describe the two peg method of um:.:m@nn
adjustment of a dumpy level.

Q.31 Name the various accessories of the plane table-
What are their functions? Explainin brief.

Q.32 What are the various method of plane table?
Explain any two in details.

Q.33 Write any five advantages of plane table surveying:
Q.34 Write the purpose of leveling.

Q.35 Write ashort note on check leveling'.
SECTION-D

Note: Long answer type questions. Attempt any two oEM“
three questions. (2x10=2

Q.36 The following bearings were observed in running J
close traverse. Which stations are affected by 10¢@

attraction?

Determine the correct bearings.
Line F.B. B.B.
AB 78°15' 257°30'
BC 118°30' 299°30'
CD 168°30’ 348°30'
DA 227°45' 47°15'

Q.37 The following staff readings were observed
successively with a level, the instrument have been
moved after 3, 6, and 8 reading: 2.228, 1.606,
0.988, 2.090, 2.864, 1.262, 0.602, 1.982, 1.044,
2.684 fill the above readings in a page of level book
and calculate the RL of points using height of

instrument method, if the first reading was taken

with a staff held on a bench mark of 432:384m.

Q.38 Explain in detail about "Two noiﬁ problem" and "

Howitis performed?

(2500) (4)
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SECTION-A

Note: Multiple choice Questions. All questions are
compulsory

(10x1=10)
Q.1 Abuilding is an obstacle to
a) Chainingbut notrainging
b)  Ranging but not chaining
c)  Neitherchaining hor rainging
d). Bothchainingandranging
Q.2 Maximum tolerance of a 20m chain s
a) *2mm b) +3mm
c) *4mm d) £5mm
Q.3 ForalineAB
a) The fore bearing of AB and back bearing of BA
differby 18°
b) The fore bearing of AB and back bearing of BA
differby 18°
c) Both(a)and (b)are correct
d) Noneofthe above
Q.4

The horizontal angle between the true meridianand
magnetic meridian at a placeis called:
a) Declination

{ b). Azimuth
¢) Localattraction d) Magneticbearing
(1) 180733/170733/
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Q5 Which ofthe following is an obstacle 1o chaining e
. in , .

o G ot

Q.6 Planimeteris used for measuring.

b) Area

Volume .

MW Slope angle d) Contourgradient
Q.7 Plotting of inaccessible paint on a plane table, is

doneby .
a) Intersection b) Traversing

¢) Radiation . d) Noneofthe above
Q.8 Which of the following instrument is used to setup
rightangles? .
a) Crossstaff b) m_ﬁ.m square
c) Optical staff d) _uq._wq: square
. Q.9 Whichisthe method of plane tabling? .
a) Ranging b) Traversing
c) BothA&B d) . None 025.m above
Q.10 Instrument used for sighting the .ou_mﬂw -and
drawing the rays in plane table surveying

a) Alidade b) Throughcompass
c) U-forK d) Noneofthe above
SECTION-B
Note: osmomﬁ.w type questions. All questions are
compulsory. (10x1=10)

Q.11 Geodetic survey of India was done using _
triangulation system.

Q.12 In surveying when work is done from part to whole,
the smaller errors are

Q.13 Lengthofan Engineer chainis

(2) 180733/170733/
120733/030733

ﬂlv!
. B Quadrantal bearings are measured with

‘O.éw Reduced bearing of a Line whose WCB is 312° is

Q.17 Thefiducial edge of alidade should be

Note: Short answer type questions. Attempt any twelve

6 Q.23 Whatare the obstaclesin chain surveying? Explain

»

compass.

Q.16 The datum adopted for India is mean sea level at S

Q.18 Linerangerisusedfor

Q.19 The plane table surveying's mr:wgm for
scale mapping.
Q.20

line is the line drawn through points of the
same declination.

SECTION-C

questions out of fifteen questions.
. (12x5=60)
Q.21 Whatarethe principles of Surveying? Explain.

Q.22 Give the classification fo Surveying on the basis of
: instrument used.

Q.24 What are the different kinds of chains used in ,
surveying?

Q.25 Differentiate between chain survey and compass
survey.

Q.26 What is local attraction? How is it detected and
eliminated?

Q.27 Describe temporary adjustment of prismatic
~compass.

Q.28 Define leveling, What is the principle of leveling?
Explain.

Q.29 Whatis bench mark? Give their classification.

(3) 1807331170733/
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Note: Long answer type questions. Attempt any

Q.23

Q.25

(3440) 4) B 220733

{
SECTION-D gt
WO

questions out of thrce questions. @xm“,_ 0)

: . hile
The following bearings were observed whi
traversing with a compass:

Line = FB BB
AB 74°15° 256°00°
BC 107°15° 286°15°
CD 224°45° 44°45°
DA 307°45° 127°00°

Mention which stations were affected by local .
attraction and determine the corrected bearings. .

The following staff readings were observed
successively with a level, the instrument having
been moved after 3™, 6™ and 8" reading: 2:230,
1.605, 0.990, 2.090, 2.865, 1.265, 0.600, M.mmo,
1.045, 2.685 meters. Entre the above readings ina.
page of a level book and calculate the RL o.m points
using rise and fall method, if the first reading was
taken with a staffheld on a bench mark 0f432.385m.

Explain the radiation method of plane table
surveying with the help of diagram. Ve

No. of Printed Pa es:4
;Wo: No. ;o P m g
~ 3rd Sem / Civil
Subject : Surveying - I
Time : 3 Hrs. | i MM, 560
SECTION-A

Note: Multiple choice questions. All questions are

compulsory . (6x1=6)

Q.1 For a well conditioned triangle, no angle should be

less than
a) 20° b)) 45
c) 30° d) 60°

Q.2 Aninvartape is made of an alloy of
a) BrassandNickel b) Brassand Steel
¢) Nickeland Steel d) Copperand Steel

Q.3 A negative declination shows that the magnetic
meridian is to the - (CO3)

a) Western side of the true meridian
b) Southemside of the true meridian
¢) Easternside of the true meridian
d) Noneofthese

(1) 220733



cen ona “Turning Poing?
04 Thefollowings! ghts arc taken .
a) Backsight only

b) F oresight only . _
resightand Backsight

c) Fo . .
ghtand Intermediate sight

d) F oresli
Q.5 Steep ground is represented by
a) Widely separated contour line
b) Closely packed contour line
c) Parallel running contour line
d) None of the above
Q.6 The horizontal distance between two consecutive
contour lineis___
a) Contour interval
b) Contourlen gth
c¢) Contour distance
d) Horizontal equivalent
SECTION-B
Note: Objective/ Completion type questions. All questions
are compulsory. (6x1=6)
Q.7 Definethetermlinear measurement. .
Q.8 Define the term magnetic dip.
Q.9 Definethe term Bench mark.

Q.10 Define the term contour interval.

(2) 220733

Q.1 ._ The instrument used for accurate centering in planc
table survey is (U-fork /Alidade)

Q.12 A metallic tape is madc of (Cloth & Wire /
Lincn)

SECTION-C

Note: Short answer typc questions. Attempt any eight -
questions out of ten questions. (8x4=32)

Q.13 Describe the principles of surveying.
Q.14 Convertthe following WCB to QB:

a) 142°15° b) 22345’

c) 63°10° d) 285°30°
Q.15 Write the various uses of prismatic compass.

Q.16 Enlist the natural errors in levelling and describe any
one of them.

Q.17 Describe the process of temporary adjustment of an
Auto Level.

Q.18 Write the various advantages of plane E,c_o.
surveying.

Q.19 Describe the procedure of orientation of plane table

by trough compass.
Q.20 Describe the various characteristics of contours.
Q.21 Writeashortnote on “Interpolation of contour”.

Q.22 Describe the use of contours for the marking of
alignment of a national highway.

(3) 220733



i i CO-4)
Q.31 Write the purposes of leveling. (
Q.32 Zm:Bm Smua_mmqm:» equipments used ﬁoﬁﬂ%ﬁ_ummw

ble surveying. .

Q.33 owz.ﬁm a m:oﬁ :m:m on "Orientation of n_m:m %._w_wm
by back sight". . ( L

Q.34 Explain the concept of two-point _oﬁov_mmw:.mv

plane table surveying. (C o
Q.35 Write any five disadvantages of u_m:woﬁm_vmv

surveying.
SECTION-D
pt any two

Note:Long answer type questions. Attem y
ncmm:o:m out o« three questions. 2x10=20

Q.36 The ﬁo__oim:mw._ bearings were observed E:m__vm
traversing with a compass: (CO-
Line FB BB
AB . 45°45 226°10
BC 96°55' 277°5"
CD 29°45' 209°10
DE 324°48' 144°48 _
Mention which stations were affected by _Jm.w

attraction and determine the correc

bearings. . :
Q.37 The followings staff readings were observe

successively with a level, the instrument :m<_:%

been Eo<mn«mnm1 3" 6" and 8 ﬁmma_:m” m.mmm.
1.606, 0.988, 2.090, 2.864, 1.262, 0.602, 1.982,

1.044, 2.684 meters. Entre the above reading in

| book and calculate te RL of
B P e Tare t of instrument method, if the

oints using heigh .
first Bmaim was taken with a staff held on a
bench mark of 432.384 m. (CO-4)

Q.38 Explain the "Intersection method of plane table
mcﬂﬂmi:@.. in detail. (CO-5)

Note: Course Outcome .
question paperis for official purpose only.
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SECTION-A .

Multiple choice questions. All questions are
compulsory (10x1=10)
Ametallictape is made of (CO-1)
a) Steel . b) Invar
oW Linen d) Clothand Wires

Which of the following is an obstacle to chaining

but nottoranging ? . (CO-2)
a) Building b) River
¢) Hillock d) Noneofthese

e correction forsag is %OO-NV
a) Always Zero b) AlwaysAdditive

c) Always Subtractive

d) Sometimes additive and sometimes
Subtractive

Local attraction in compass surveying may exist

dueto &O-wv

a) Presence of magnetic substance near the
Instrument.

b) Lossof magnetism of the needle

c) Incorrectleveling of the magnetic needle

d) Friction of needle at the pivot .

If the forbearing of a line AB is 285°, then the

backbearing will be (CO-3)
mw 75° b) - 95°
c) 105°° dy 115°

(1) 180733/170733/
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Q.6 Foraline AR (C0-=3)

a) The forebearing of AB and backbearing of

BA differ by 180
b) The forebearing 0
AB differby 18
Both (a) and {b) are correct

f AB and backbearing of

c) :
d) zgm_mno:mﬂ : AR
Q.7 mmsmzzm:mmmgm_m<m:cum_mamm_@ AOO&AV
a) Radius o:m<m__ucwm
| ength of level tube
MW rm:m% of bubble of level tube
None of the above ; .
Q.8 .n_u.w:w following sights are taken on a .Mm@ﬁw
oint” | . -
mv Backsight only b) Foresightonly
c) Foresightand Backsight .
d) moﬂmmﬁ:”m:a_:ﬁm:.:ma_mﬁm sight .
Q.9 The type of surveying which requires _mmmuﬁ.%ﬂ_mm
work Is (CO-5)

a) Trignometrical leveling
b) Techeometry .
c) Theodolite surveying
d) Planetable suveying

Q.10 The instrument used for accura
plane table survey s
a) Spiritlevel b)

te centering in
(CO-5)

Plumbing fork (U-fork)

c) Alidade d) Troughcompass
SECTION-B .
Note:Objective type questions. All questions are
compulsory. 10x1=10
Q.11 Define angular measurement. (CO-1)
Q.12 Define offsetting. (CO-2)
Q.13 Define principle of chain surveying. (CO-2)

(2) 180733/170733/
120733/030733
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Q.74 Define magnetic declination CO-3)
Q.15 Define true meridian. CO-3)
Q.16 Define reduced level. (CO-4)
Q.17 Define axis of bubble tube. (CO-4)
Q.18 Define Diaphragm. (CO-4)

Q.19 Write the use of U-fork in plane table mc?mS:mv.
Q.20 Define radiation method of plane

surveying.
. SECTION-C
Note:Short answer type questions. Attempt any
twelve questions out of fifteen questions.
12x5=60

Q.21 w_m3m the different classifications of surveying
ased on nature of field survey and describe
any one of them. (CO-1)

Q.22 Explainin brief the principles of surveying.
, CO-1
Q.23 What are the obstacles in chain mcEM Sm\.w
. L (CO-
Q.24 Mm_ﬂmmf%%u\ five disadvantages of n:m:N
: CO-2
Q.25 Convert the following QB to WCB : AAOO.Sv
(a) me“wo_m (b) S9°48'E
(c) S31°54'W (d) N32°36'W (e)N5°42'wW
%.Wm Write the use of prismatic compass. (CO-3)

7 Find the correction for curvature and refraction
(CO-4)

(CO-5)

for distance of
a) 2933meters b) 7Km

Q.28 Enlist the instrumental errors in | i
explain any one of them. v m<m=md%0mm%

Q.29 Write a short note on check leveling: (CO-4)
Q.30 Explain the process of temporary adjustment of
adumpy level. " (CO-4)

(3) 180733/170733/
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Q.28
Q.29

Q.30

Q.31

Q.32
Q.33

Q.34
Q.35

Note:

Q.36

(2740)

currentmeter.
What do you understand by &o::_nous

Distinguish between hydraulic gra AOO..JQ
encrgy line . th an
Define an economical scction hydraulic mea mmwOOmv
wetted perimeter . . and
What are the common defects in centrifugal v:M:%OB
how are they rectified ? (CO7)
What is meant by knocking inpipes. inor head
Explain minor head losses and various mi! AOO\U

losses. e.
Write short note on dead weight pressuis Amm_mwmv
760 mm Oof

The barometric pressure at sea level is :
mercury and that on mountain is 735 mm of mercury
tas12 n/m,

the specific weight of air is assumed constantas - )
what is the elevation of the mountain top ? (

SECTION-D e

0 ncwmaoum

Long answer type questions. Attempt any tw ﬁwxﬁoums :

out of three questions.

A horizontal venturimeter with inletan
300 mm and 150 mm respectively is used to
flow of water. The reading of differential
connected to inlet and throat
Determine the rate of flow Take Cd=0.98. (COO6)
Explain surge tank and syphon. . (C0o8)
Water is flowing though a non-uniform pipe gradually
tapering from 0.15 metre diameter to 0.08" meter.
diameter. If the average velocity of water at section0.15°

d throat diameters
measure the
manometer

metre diameter is found to be equal to 1.5 m/s. Find out
the discharge in litre per second and also the velocity of

flow at 0.08 metre diameter section.

(CO5).

4)

7

”

is 200 mm of mercury
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SECTION-A _

Note: Multiple choice questions. All questions are compulsory

Q.1

Q.2

Q3

Q.4

Q.5

Q.6

b (10x1=10)
Fluid is a substance, which offers no resistance to.(CO1)

a)  Pressure b) Shape
¢) Temperature d) Alltheabove

Which of the following is dimension less? (CO2)
a)  Specific weight b) Specific volume

c) surfacctensionforce d) specific gravity

The centre of pressure acts are centre of
gravity of the immersed surface. (CO3)
a) at b) below

c) above d) can'tsay

Au-tube differential manometer measures. (CO4)

a) absolute pressure atapoint

b) Local atmospheric pressure

¢) Differencein total energy between two points

d) Difference in pressure between two points

The path followed by a fluid particle mm, te is called a
(COS5)

b) Pathline

a) Streamline
d) Noneofthese

c) Streakline

The function of an orifice is (CO6)
a) Tomeasure discharge through a pipeline
b) Tomeasure discharge through a canal
c) Tomeasuredischarge froma tank
d) Tomeasure velocity of flow.
(1) 180731/170731
/120731/030731



Q.7 Anopening provided in the side of a tank or vesse] Such

that the liquid urface in the tank 1s below the top eqp, of; Q.17 Inpipe flow , maximum velocity occurs at the
Emowma:m_.mrboizmm , AOOS / .., of pipe section. (COT)
2 Weir b) Notch : Q.}3 Chezy's formulais given by : (CO8)
¢) Orifice &n_cZosnomEomo c @.19 The rotating part of a centrifugal pump mmﬁmﬂ_wwn
. friction is governed by 0 P —
Q38 Mwamam.wwwm.awmmi : b) Darcy'slaw 7 - Q.20 Wm.n own“ﬁ_.ommo_. is machine used to compress mm..A Mm%mwo
; isei .

o) O depth s Toapenoidal Teias | SECTION-C

Q9 :EBE.E mean depth ot a 1rap 3 OI mogy Note: Short answer type questions. Attempt any twelve
economical cross-section1s given by questions out of fifteen questions. (12x5=60)
a) di2 b) 24 Q.21 Explain co-efficient of viscosity and give its units .
c) 3d2 d) Noneofthese Discuss the effect of temperature and pressure on

Q.10 Apumpisadevice which converts (CO9) _ viscosity. (Col)

Q.22 A circular plate Smx5m hangs in water from one of its
| corners. The centre of gravity of the plate is at a depth of
10m from the water surface. find the total pressure and

a) Mechanical energy into Hydraulic energy.
b) Hydraulic energy into mechanical energy

¢) Electrical energy into mechanical energy depth of centre of pressure. (CO3)
d) Alloftheabove . Q23 Explainbramah's hydraulic press. Derive its mechanical
SECTION-B 3 advantage. (C0O3)
Note: Objective type questions. All questions are compulsory. . Q24 One limb o.m a u-tube containing mercury is attached toa
(10x1=10) b pipe carrying water under pressure of 1.7 bar . if the

Q.11 Ideal fluidsarealsoknown as ) (COl) Enanﬁ_gm_ 1mm.=w5§o free limb by y meter above its
Q.12 mwmnm.c_wo press is the practical application of the ; “M_Mwﬂﬁmo%wwﬂ_mwwﬁMwwwrmonwwﬁ%oﬂwwm”wwoﬂwﬂw
QI3 A piszometer twbe is not suitab iy [ Lottt (09

' piezometer tube is not suitable for measuring Q25 State Bernoullis theorem for flow Liquids and name

_____ pressure. . (CO4) w / some practical application of Bernoulli theorem. (CO5)
Q.14 Continuity equation of flow is based on the principle of ' Q26 Define venacontracta . Why it has got the smallest
: . (CO5) = section of the jet. (CON)
Q.15 ,;.m point where maximum of jet leaving an Q.27 Aweir300meterlong is discharging water under head of
oH.._mnn take place is knownas . (CO6) et 1.25 meter , calaclate the discharge over the weir by
Q.16 Pitottube is used for measurement of . (CO6) . - using (CO6)
: 5 s a) Bazin's formula b) Francis formula
180731/17073 I8 : /120731/030731
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- SECTION-D Vi o. of Printed Pages : 4 2 220735
Note: HlODqu answer ﬁv-mvﬂ DCQMﬂmOH—m. ..r/.—...nu\a—uﬁ M:A% two ZO cnssanmesss essases
questions out of three n:om:wsm. Aman_mu 3rd Sem / Branch : Civil .
Q.23 Write differences between reciprocating pump and .Sub.: Fluid Mechanics
centrifugal 4 - (CO5) :
salpump 8 ( 5 Time ; 3Hys. M.M. : 60
Q.24 A rectangular plate of size 3m x 4m is immersed 1n SECTION-A
water in such a way that its 3m side is parallcl to the ; \ : : ,
free surface and its upper edge is 1m below the free Note: Multiple choice questions. All questions are
' o . : —
surface. Find total pressure on the plate and position | compulsory (6x1=06)
of centre of pressure. . (col) | Q1 Anideal fluidis . - (CO1)
Q.25 Atapering pipe has 200 mm and 100 mm diameterat | a) Compressible .
its ends. If velocity at larger end is 2m/s, find the | b) Incompressible
discharge and velocity at smaller end. (CO4) | o) dlricompressibloanivsscons
d) Noneoftheabove
{
: | Q.2 Newton’slaw of viscosity states that (CO2)
a) Shear stress is directly proportional to shear
strain

Ll . St e s ittt o)

b) Shear stress is directly proportional to velocity
gradient

c) Shear stress is directly proportional to velocity
d) Noneoftheabove

~ Q.3 Thedensity of water is maximum at (CO1)
‘”, m& O°C Uu 4°C
c) 273K d) 300K -

(3780) (4 220735 - ) 220735



Q.4

Q.5

Q.6

Q.7
QS8

¢) Discharge d) Velocity
SECTION-B

Note: Objective/Completion type questions. All questions
are compulsory. (6x1=6)
When the fluid is atrest, shear stress is . (CO1)
Surface tension is caused due to . (Cohesion/ |
Adhesion) (Con
The S.I. Unit of discharge 1s . (CO2)

Q.9
Q.10

Q.11

(CQOQu

Absolute pressurcis cqual to

a) Gaugepressurc- Vacuumn pressurc

b) Gaugepressurc+ Atmospheric pressurc
c) Gaugepressurc- Atmospheric:pressure

|

d) Atmospheric pressure - Gauge pressure
(CO2)

b) A \< constant

d) V/A Constant

Equation of continuity is
a) A/V=constant

c) AxV=constant
Venturimeter is used to measure : (CO3)

a) Viscosity b) Surfacetension .

In laminar flow through pipes, Reynolds number is
less than (CO4)

Reynolds number is the ratio of inertia force to

(CO4)

(2) 220735

Q. Hw The c::ognOmmEo_vZ\B alsocalled

" t-

(CO2)
s SECTION-C
Note: Short answer type questions. Attempt any eight
a:om:o:w out often questions. (8x4=32)
Q.13 Whatis fluid and write its types. (CO)
Q.14 Define viscosity and its variation with temperature.
. (Col)
Q.15 What is Reynolds :c::una ‘and write its
significances. (CO2)
Q.16 Differentiate between notch and weir. (CO3)
Q.17 Define laminar and turbulent flow. (CO6)
Q.18 ér.mﬁ 1s venturimeter and write names of its three
major parts. (CO3)
Q.19 What do you understand by most economical
channel section? (CO6)
Q.20 mﬁa discharge through a rectangular channel of 6m
: éaﬁ.r and of 3m depth when running full. Take slope
k- as 1 .n 2000 and Chezy’s constant C=535. (CO2)
Q.21 Define centrifugal pamp and write.its main
components. (CO35)
Q.22 What do you understand by meta centre and
buoyancy. (COD)
220735
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Q.24 A rectangular plate of size 2m X 3m is %nmmawa
liquid of specific gravity 0.8 in sucha way tha edge
side is parallel to the free surface and itS upper con
is 1.5m below the free surface. Find total Eommﬁo 1)
the plate and position of centre of pressure. . (C!

: . mm
Q.25 The diameter of a pipe at section A and B are momc =
* and 500mm respectively. If velocity of flo

A « o and
section A is 4m/s, Find discharge through piP¢ ® =
velocity at section B.

AﬂwooV

Q)

Mkt E3e

(CO4)

(Note: Course outcome/CO is for office use only) i

it o

P aA L

SO TR AP, LT

No

Time
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Q.1

. of Pri |
Roll g Med Pages: 4 LI 3

S T 220735
3rd m»&@wﬁ : h@ :

Subject : Fluid Mechanics

* 3 Hrs. MM.: 60
SECTION-A

Multiple choice questions. All questions are

compulsory (6x1=6)

ANewtonian fluid is (COYD)

a) Nonviscous ;

b) Compressible

) ObeysNewton's law of viscosity
d) Noneoftheabove

Stoke is the unit of (CO2)
a) Kinematic viscosity b) Dynamic viscosity
¢) Shearstress d) Surfacetension

The specific weight of water is (CO2)
a) 1000N/m’ b) 9810N/m’

c) 9.81N/m’ d) 1000Kg/m’

The standard value of atmospheric pressure is(CO3)
a) 760mmofHg b) 10.34mofwater

c) 1.01bar

d) Alloftheabove

(1) 220735



Q.5 Piezometer measures
a) Vacuum pressure
c) Absolute pressure

b) Gaugepressure ~
d) Noneoftheaboy,

Q.6 Venturimeter may be i Anowv
a) Horizontal b) Vertica
¢) Inclined d) Alloftheabove
SECTION-B
Note: Objective/ Completion type questions. All questiop,
are compulsory. . (6x1=c)
Q.7 As the temperature of a liquid mises, its viscosity
| (Cory
Q.8 The ST unit of viscosity 1s (CO2)
Q9 INs/m'=___ poise (CO2)
Q.10 Continuity equation of flow is based on the principle
of (CO9)
Q.11 The relationship between C,, C,C.is (CO3)
Q.12 Water in canals runs under pressure.
(Atmospheric/gauge/high) (CO6)
SECTION-C

Note: Short answer type questions. Attempt any eight
questions out of ten questions. (8x4=32)
Q.13 Define ideal and real fluids. (CO1)

) 220735

Q.14 Define adhesion and cohesion. (Con

Q.15 Explain the phenomenon of capillarity. (Con
Q.16 State the Passcal's law of pressure, (CO4)
Q.17 Define total pressure and centre of pressur. (CO1)

Q.18 Write expression for discharge over a rectangular
weir and explain the variables used in jt. (CO2)

Q.19 What is hydraulic gradient line? (CO06)

Q.20 Write the conditions for a channel to be most

economical in case of rectangular section with a
suitable diagram. (CO6)

Q.21 Explain the working of centrifugal pump. AOO&

Q.22 Arectangular channel water at discharge of 550 L/s
when its bed slope is 1 in 2500. Find dimensions of

channel if width to depth ratio be 2:1 and Chezy's
constant C=60. (CO2)

SECTION-D

Note: Long answer type questions. Attempt any two

questions out of three questions. (2x8=16)
Q.23 State Bernoulli's theorem, write the expression and
its assumptions. (CO3)
(3) 220735



. 98.
flow assuming the co-efficient of tube 3 0

Q.30 Write the functions of a ventunmeter. 1adid ﬂooﬁw.
Q.31 Decfine Reynold’s number and write its m_mEmMmﬂu 7
Q.32 Find the loss ofhead due to friction in a pipe 0f400 qu.
diameter and having 1 Km length. The velocity. Mu
water of the pipe 1.5m/sec. Take f=0.010. (CO
Q.33 Define the most economical channel section in an opent
channel flow. AOOmvm
Q.34 - Arectangular channel 6m wide is having a bed slope ©
1:1000. if the depth of water is 2m, find the mean
velocity of flow and the discharge. Assuming Chezy S
constant C=60. AOO.mV
Q.35 Differentiate between centrifugal and reciprocating
pump. (CO9)
: . SECTION-D
Note: Long answer type questions. Attempt any twoO
questions out of three questions. (2x10=20)
Q.36 Prove that the centre of pressure is always below 1ts
centre of gravity for an immersed plane surface.(CO3)
Q.37 The difference in water surface levels in two reservoirs
is 12.5m, which are connected by three pipes in series
of lengths 300m, 170 and 210m and of diameters

300m, 200mm and 400mm, respectively. Determine

the rate of flow of water(neglecting the minor losses),
if co-efficient of friction are 0.005, 0.0052 and 0.0048,
respectively.

Q.38 A trapezoidal channel 4m wide at bottom and side
slope 1:1.5 has a bed slope of 1 in 500. Find the

discharge through the channel if water flows 1m deep.
Take N=0.035.

(CoB) .

(2620) (@)

1030731

| L (COT)
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Subject:- Fluid Mechanics
3Hrs. MM.:100
SECTION-A .

Note: Multiple choice questions. All questions are

compulsory (10x1=10)
Q.1  Thestudy ofliquids atrestis called (CO)
a) Hydrostatics b) Hydrokinematics
c) Hydrodynamics d) Noneoftheabove
Q.2 When the pressure of the fluid is below atmospheric
pressure, thenitis called (CO4%)
a) Absolute Pressure
b) Negative Gauge Pressure
c) GaugePressure
d) Noneoftheabove
Q.3 Bernoulli’s tehorem deal with the law of conservation
. (CO5)
a) Energy b) Mass
¢) Momentum d) Noneofthese
Q4  TheS.I. unitofdischargeis (COS5)
a) m/s b) m'fs
¢) ms d) m'fs
Q.5 Atvena-contracta, the area of jet of liquid is (CO6)
a)  Maximum b) Minimum
c) Equal d) Noneoftheabove
Q.6 Therelationbetween C_C, and C,is (CO6)
a) . C,=C.xC, b) C=C,xC,
c) C,=C.xC, d) C,XC,xC,=1

| (1) 180731/170731/12073)
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Q.7

Q.8

Q.9

Q.10

Note:

Q.11
Q.12

Q.13

Q.14
Q.15

Q.16
Q.17

A current meter is used to measure (CG

a) Pressure b) Velocity

c¢) Viscosity d) Electric 95“@3
[.aminar flow occurs in pipes when Reynold’s Numbe,
is . (CO7)
a) Lessthan2000

b) Liesbetween2000to3000

c) Liesbetween3000to 4000

d) Morethan4000

If the Froude number in open channel flow is more
than 1.0, the flow is called . (CO3)
a) Streaming flow b) Shooting flow

c¢) Critical flow d) Noneoftheabove
The discharge through a trapezoidal channel is

maximum when . (COB)
a) Topwidth=halfofsloping side
b) Topwidth=1.5xslopingside
¢) Halfoftop width=Sloping side
d) Noneofthese
SECTION-B

Objective type questions. All questions are
compulsory. (10x1=10)
Define surface tension. (CO2)
A piezometer tube is not suitable for measuring

pressure. (CO4)
A notch.can measure discharge than that of
orifice. (CO06)
What is an Orifice Meter? (CO0)
Pitot tube is used for the measurement of .

(CO6)

Loss of head due to sudden enlargement in a pipe
- (CO7)
Define upper critical velocity. (CO7)

(2)  180731/170731/120731
/030731

Q.18

Q.19
Q.20

Note:
Q.21

Q.22

Q.23'
Q.24

Q.25

Q26
Q.27

Q.28

Q.29

Give some nstv_nm ofo CO8)
. penchannel. (

Define wetted perimeterin an open Mrmubo_. AOO@

Define non-uniform flow in an openchannel. (CO8)

SECTION-C

m:oz. answer type questions. Attempt any twelve
questions out of fifteen questions. (12x5=60)
ér.m: 1s capillarity? Derive expression for height of
capillary rise. (CO2)
Find the depth of alcohol of specific gravity 0.784
é_:nsﬂunom:oom an intensity of pressure equal to 2.05
KN/m’. Also find the pressure head in terms of water
and mercury. : (CO3)
Define pressure of a liquid and write its expression
along with diagram, (CO3)
A simply U-tube manometer containing mercury is
connected to a pipe in which a fluid of Sp. Gravity 0.8
and having vacuum pressure is flowing. The other end
of the manometer is open to atmosphere. find the
vacuum pressure in pipe, if the difference of mercury
levelin the two limbs is 40 cm and the height of fluid in
the left from the centre of pipe is 15 cmbelow.  (CO4)
Write a short note on “Bourden Tube pressure Gauge”.

. . (CO4)
m«EmE the continuity equation of flow. (CO5)
Differentiate between compressible and incompressible
flows. (CO35)
In a pipe of 100 mm diameter, water is flowing with a
mean velocity of 3m/s and a gauge pressure of 300
kN/m’. Determine the total head, if the pipe is 10 m
above the datum line. Neglect friction. (COS5)
A pitot-static tube is used to measure the velocity of
water in a pipe. The stagnation pressure head is 6m and
static pressure head is 4.5m. Calculate the velocity of

-

(3)  180731/170731/120731
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, iameter, 3 M1
Q.22 A mild steel tube 25 mm external diar? rmine the

s ). . a mgﬂ. U@ﬁﬂ
thick and 3.5 m long is used as rut can CArTy

safe compressive load which this strut & 10°
when both of its ends are hinged. Take E=2X
N/mm’and F.O.S.=3
SECTION-D
Note: Long answer e questions. Aftempt any twWo.
L. (2x8=16)

questions out of three questions.

Q23 Draw the SFD and BMD for a simply supported

beam of span 5 m carries a UDL of 2.25 kN/m for 2

length of 2m starting from a point at a distance of

1.5 m from the left hand support.

Q.24 a) Find the moment of inertia about the centroidal
Y-Y axis of an inverted L-section 15 cmx 10 cm
x2.5cm.

b) Describe the terms slope and deflection in a
simply supported beam having length=Lm and
uniformly distributed load = P kIN/m, over the
whole span

Q.25 AtrussABChasaspanof BC=5m,Z ABC=60"and

ZLACB = 30". It carries a load of 9.5 KN at its apex. -

Find the forces in the members AB; AC and BC.

(3620) | (4)

220732
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3rd Sem / Civil Engineering
Subject : Structural Mechanics

Time : 3 Hirs. M.M. : 60
SECTION-A
Note: Multiple choice questions. All questions are
compulsory (6x1=6)
Q.1  The ability of a material to deform without breaking
is called .
a) Plasticity b) Elasticity
c) Creep d) Noneofthese

Q.2  Atthepoint of contra-flexure A
a) B.Misminimum
b) B.Mismaximum
c) B.Miseitherzero or changes sign
d) Noneofthese
Q.3 Theunitof moment ofinertia is
a) L b) L2
c) L3 d L4
Q.4 Bending stresses are also known as :
a) Shearstress
b) Temperature stresses
c)  Longitudinal stresses
d) Hoopstresses

(1) 220732
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Q5  TheEuler's formula holds good only mmwn_\\.\l.
a) Longcolumn b) mrMM_“ oowEsB:E_
C) Medium column d) - ‘WZ

Q.6  Ifn>(2;-3), thenthe framewilloe_———
a) Hmnwmwwﬁ frame b) Deficient frame

¢). Redundantframe  d) None of these

SECTION-B :

Note: Objective/ Completion type questions. All acoms.msm

are compulsory. 351.9

Q7 Point of contra-flexure is also known as point
of, (Moment/Inflexion)

Q.8 If a section is symmetrical about X-X or Y-Y axis,
then the centroid of the section will liec on
(Axis of symmetry/ Edge of plane)

Q.9 Theshear stress at the ;s maximum. (Top axis /
Neutral axis) .

Q.10 Inacantilever beam, the maximum deflection occurs
at -

Q.11 is the ratio between the equivalent length of
the column to the minimum radius of gyration.
(Buckling factor/ factor of safety)

Q.12 The basic perfect frame is a (Rectangle /
Triangle)

SECTION-C

Note: Short answer type questions. Attempt any eight

questions out of ten questions. (8x4=32)
Q.13 Write the various classifications of materials and
describe any one of them in detail.

@ 220732

Ni

\§

Q.14 Draw and describe the main features of stress-strain

di
Q.15 A

agram for HYSD steel.
bar 300 mm long is 50 mm X 50 mm in section for

125 mm of its length, 25 m diameter for 75 mm
length and 40 mm diameter for the remaining length.
If the tensile force of 80 KN is applied to the bar,
calculate the stresses induced in the different
sections and total elongations of the bar. Take E=2 x

1

0° N/mm’

Q.16 Describe the following terms:
a) Modulus of elasticity b) Shear force

Q.17 Describe the various types of supports used for
transfer of load from the beams to the vertical
structural members with the help of diagram.

Q.18 Fine the moment of inertia of a rectangular section

60 mm wide and 40 mm deep about its centre of
gravity

Q.19 Find the moment of inertia of T-section having the

Q20

Q.21

flange size 15 cm x 5 cm and web size 5 cm x 20 e,
about X-X axis and Y-Y axis passing through the
centroid of the section.

Write the assumptions made in the theory of simple
banding,

A simply supported beam of length 4 m carries a
uniformly distributed load of 8KN/m over the entire
span. Calculate the maximum slope and deflection of
the beam. Assume EI-80 X 10’ Nmm® for the beam.

(3) 220732
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a_mmﬁma |

Q.34 Draw the detalled shear stress distribution AOO. 6) ,
. for arectangular section. m:a.. ¥

Q.35 What is relationship. between stress, mqmmm O-mv ;_
-young m..:oa:_:wo.qm_mm:n_q e, 2 H

¢

V¥R 3 ..,h

- -

T wmo._._oz-c )
: zowm. _ro:m answer type questions. 2832 any
‘s three questions.

'Q.36 ' Determine moment of Inertia o* the given I-s€

2<o o:ﬂ o_"

(2x10=20).
o._o? 4

J.

e
‘about Horizontal and <m_.=om~ axis vmmmm:m qucmmﬁv ¥
O G.of section. - A A
; 10mm —] [—
-

Q.37 A m::v_m mcvvonma ‘beam 'is* carrying @ . U_ oﬁ
: 2KN/m over.a length of 4m from the left end and’ m;.
point load of 5KN at 4m from the right end. The _mzog
of beam is 10m. Draw S.F.D. and B.M.D. and also_:
calculate max: Bending moment mﬂmmo._o:. 00 3

0,
3]

_

=
R

2KN/m : _ ; G

Q.38 Explain mechanical properties of materials..

(2760) (4)

(C0:))
180732/120732
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" R SECTION-A - .
Ote: Multiple choice Questions. >= ncmm:o:m are

q compulsory. (10x1=10)
1 The Uo“_: of contra =mxc6 occurs ata uo:.; where:

(CO-3)

100

a) Wm:asm moment orm:mmm sign
b)  Shearforce changeszero
€)  Loading becomes zero'- -
d) Bending moment and shearforce bothare zero

Q2 The ability of a Bmﬁm_._m_ 3 deform without breaking is
called. o (CO-1):
a) m_mmco_q “ S b)  Plasticity- %3
c) . Creep: ok e ) Zo:mozzmmm
Q3 <<:m: shear force at a uo:: is zero, the bending "
moments at that pointwill be. \ (CO-3)
a) Zero. - s 7o b)Y Minimum o
c) - ‘Maximum - - ~d)  Infinity :
Q.4 Momentof _:m:_m oﬂ m c._m:m_m about ;m <m:mx is @_<m= ‘
by: : Sohe AOOLS
a) ~ bh%36 .. ~-b)bh*i2: ;
c) bh¥4 . "~ d)" Noneofthese:
Q.5 The mﬁmm_ barsin a oo_..oqm"m cmma are embedded. -
(CO-5)
a) melonmmomo: .:._E me_.cozo:.mmn:o:
¢) Inthe Centre .- d).- Noneofthese -
M. 180732/120732
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Q6 Attheneutral axis ofabear: (CO-6) Q.18 What s permissible value of defiection for the simply e
b) Minimum & supported beam. (CO-T) \
a) Zero d) None ofthese Q.19 Whatis column? (CO-8) b
¢) Maximum aximum deflectionoccurs at - Q.20 The stress caused by the shearing force at a section Yeros
Q.7 INacantileverbeamm (CO-7) of abeamis gap called . (CO-6) S
j : ¥
a) Fixedend SECTION-C q
b) Freeend

iddle of thebeam
mw __,uhh_wnmsnm upon loading pattem

-
Note: Short answer type questions. Attempt any twelve
Q8 A Column of length ' is hinged at both ends;

questions out of fifteen questions.

: ; 12x5=60 '
: | of AOO._Wm Q.21. Asteel bar 2m long and 30mm diameter .__mﬂ chQOW s
.mac?m_m::m:uﬁ willbe equa g ) : to an axial pull of 30 KN. |f the young's modulus of
a) 2L | b) 5 707L elasticity of materialis 2 x 10°N/mm’. .
3 i a0 % Find (CO-2) e
Q9 n>2j-3 then the frame is named mmm. ientf (CO-9) i) Stress i) Strain iii) Elongation of the bar B
a) Perfectframe b) Nm _o_mﬂﬁ..m:_m. © Q.22 Definemechanical properties of materials.  (CO-1) 32
¢) Redundantframe d) Nonotinese Q.23 Definetheorem of perpendicular axis. (CO-4) }
Q.10 The Euler formula holds good only for (CO-g) - - Q.24 Definetheorem of parallel axis. (CO-4)
a)  Longcolumn b) Shortcolumn © Q.25 Write the assumptions made in the theory of simple ,_
c) Mediumcolumn d) Weakcolumn gl bending. (CO-5) s
~ Q.26 What do you mean by slope and deflection of a
SECTION-B : et beam? (CO-1)
Note: Objective type guestions. All questions are * Q.27 Write the classification of columns. (CO-8)
compulsory. (10x1=10) Q.28 Whatis Euler's formula? Writeits limitations. (CO-8)
Q.11 Fatigue of metalis caused by s (CO-1) Q.29 Calculate the bucking load by using Euler's formula
Q.12 Whatis Pure Bending Equation ?  (CO-5) B for a circular column of 18mm diameter and 8m
Q.13 WhatisB.M.D.? (CO-3) . length.When young's modulus, E=2x10°N/mm’.
Q.14 the ratio of lateral strain to linear strain is known as o (CO-8)
; . | (CO-2) | Q.30 Describethetypes offrames. (C0-9)
Q.15 Radiusofgyrationisrepresentedby _ . (CO-4) - -Q.31 Calculate the BM and draw BMD for a ca

ntilever
Q.16 Neutral axis of a section always passes through its

as

5 . beam carrying a pointload atthe free end.

: (CO-3)

b (CO-5) © Q.32 Whatdoyoumeanbyacomposite section?  (CO-2)

Q.7 The shear stress at the top of rectangular section is .. Q.33 What is difference between long column and short

£l : : (Co-6) & column. (CO-8)
(2) 180732/120732
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Q.27 What is batching? Explain method (CO8)
. . 4

Q.28 Differentiatc between lean and rich mix. ; %Oﬂu _N..V

Q.29 What are the various objectives of miX MM%&
. i t.

i t ltra sonic pulse velocity Tes

Q.30 Wnte short note on ultra p AOOoV

Q.31 Why does workability decreases with time? AOOWC

Q.32 Whatdo you understand by bulking of sand? (CO mv
Q.33 Whatdo youmean by formwork? (CO nvﬁ
ite short note on Portland Pozzalana cement

Q.34 Write short note (€02
Q.35 Write about hot weather concreting and precaution under.

which itisused.” (CO7)

SECTION-D .

Note: Long answer type questions. Attempt any two questions
out of three questions. - Am.ﬁoﬂuwﬁw

36 Explain the properties of concrete in plastic Stage.
2 ’ (CO4)
Q.37 What is compaction? Explain methods of Compaction.
: (CO8)

Q.38 Why is field adjustment important? Explain various

adjustment required for normal mix. (COS5)
(2360) (4)  180741/170741/12074] -
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Q.1

Q.2

Q3.

Q.4

Roll No. ..cvruerene. L) g ER (&) 1030741
34} Sem / Civil, Brick Tech, Constr. Mgmt.,
Highway Engg.
Subject:- Concrete Technology
MM. : 100
SECTION-A .
Note: Multiple choice questions. All questions are compulsory
(10x1=10)
Reinforcement provided in concrete make it (COoD
a) Strongintension b) Weakintension
¢)  weakinstrength d) nonecofabove
Initial setting time of rapid-hardening Portland cement is
nearly (CO2)
a) halfaminute b) 5 minutes
¢) 30minutes d) 45 minutes
Segregation can be prevented by (CO3)
a) Increasing continuous
b) High water content
¢) Reducingheight
d) Usingheavy aggregate
High temperatures (CO4)

Q.5

180741/170741/120741

a) increase the strength of concrete
b) decrease the strength of concrete
¢) hasnoeffect on strength of concrete
d) first increases and then decreases the strength of
concrete .
1 bag of cement is taken as equal to (CO6)
a) 15litres b) 25litres
c) 35litres d) 4S5litres
(1) 180741/170741/120741

/030741
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S

R Eo«wm.c_.:&. of concrete can be improved by a0ding O._uf. Plasticizers are of great use where high degree of

. AOO& isrequi
. : quired CO
a) flyash b) Calciumchloride G:14. “The nominal mix corresponding to MIS is (CO0)
. c©) Plasticizers d) Coppersulphate | OOm.
Q.7 >a&:w= of retarder to concrete decreases all of the 5 Q.15 Compaction factor test is b m_:_st _nmw
M.O—_Of_.;bmo‘&hmﬁﬁ . AOONV L ABOHQUOO:_.E”Q\_OMMm.ﬂnﬁ_.n:nuv AOOA.V.
MW _.Bw o;vd::“o:ﬂ. Q.16 Water cemcnt ratio is weight of to weight
water-cement ratio of
oy e e strengt] S —— o (CO3)
MW . MMM.M“MW__MNMWM%MMMWMW__MWE ength . Q.17 TForOPC, the initial setting time should not be less than
. . tes.
Q8  Which type of concrete is used for construction of | Q.18 Th ~ e Wm i (CO2)
hydraulic structures : (CO8) M : ¢ mixture of cement, sand and water is called as
a) lightweightconcrete | 4 Q.19 Slum Hmm." s not suitable fi i (CO1)
b) fibrereinforced concrete . .H, : .&oznw bili Is not suitable for concrete mix of
¢) ready mix concrete ,. 20 Maxi iy . . (CO4)
d) allofabove Q. aximum water cement ratio allowed in structural
Q.9 The final operation of finishing is called ComeEStcis SEGTION.C (CO3)
. . . (€0 Note: Short answer type ti - A '
a) Screeding b) Floating : : ype questions. Attempt any twelve
¢) Trowelling d) noncofabove ,. questions out of fifteen questions. (12x5=60)
Q.10 The formation of cement paste on surface of concrete is Q.21 Why excessive compaction is not good for concrete?
called (CO4) . . . (CO8)
a) Creep b) Freezing - Q.22 Write w:m precautions while using hot weather
c) Laitance d) -flow concreting. (CO7)
SECTION-B Q.23 DE of concrete with 0.7 w/c ratio or 0.5 w/c ratio which
Note: Objective type questions. All questions are compulsory. 1s stronger ? Why? (CO3)
- (10x1=10) Q24 Write the uses of concrete in comparison to other
Q.11 The process of accurate measurement of all concrete Building materials. . (COl)
material to ensure uniformity of proportions is called Q.25 What is the difference between shrinkage and creep?
T (COB) . (CO4)
Q.12 Thestandard size of concrete mould is (CO9) - Q.26 Writeshortnote on admixtures. (CO6)
(2)  180741/170741/120741 (3)  180741/170741/120741

/030741 . ~ /030741



Q.27
Q.28
Q.29
Q.30
Q.31
Q.32

Q.33
Q.34

Q.35

Note:

Q.36

Q.37

Q.38

(1980)

r
|

.
Explain the properties of concrete in plastic stage?
Write the objectives of mix design?

What are the function of admixtures? Explain.
Writea short note on water reducingadmixturcs.
Write a short note on ready mix concrete.

Whatis stripping and stripping time? Explain.

What is curing of concrete and its objective? Explain.
What is batching? Explain two ways of batching.
Explain the Rebound hammer test.

Section-D

Long answer questions. Attempt any two question
out of three Questions. (2x10=20)

a) What are the various test for determining Em,
workability of concrete? Explain. the slump test1ts . |
suitability, advantages and disadvantages. : |

b) Whatis workability? Explain factors affecting .
workability of concrete.

What are the main objective of proportioning of normal
concrete? Differentiate between nominal and controlled
concrete mix.

a) What do you mean by form work? Explain the
_requirements of a good formwork.
b) Write the method of curing and their suitability.

(&) 180741/170741/120741
/ 1030741

LD

No. of Printed Pages : 4

Nv?u\?s (&

18074
RON Nos Lo vennirsen ALAT0741/12078]
/030741
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o L Highway Engg.
T . Sub : Concrete Technology
Ime : 3 Hrs. M.M.:100
SECTION-A
Note: Multiple type Questions. All Questions are
compulsory. (10x1=10)

Q1 In plastic stage concrete should be free form

a) Segregation b) Bleeding

c) Creep d) BothA&B
Q.2 The final setting time of OPC is
a) 10hrs b) 30minutes
c) lhr d) 40 minutes
Q3  More W/Cratio lead to
a) Softening b) Water-Cementreaction
c) Hydrationofcement d) Toporousconcrete mix
Q.4  Airentraining agents help in reducing
a) Segregation b) Bleeding
c) Creep d) BothA&B
Q.5  Shear strength of concrete is of compressive
strength
a) 10%t012% b) 8%to10%
c)  20%t025% d) 15%t020%
(D 180741/170741/120741

/030741



Q.7

Q.8

Q.9

Q.10

Note:

Q.11
Q.12

Q.13

a) Compaction

0

Grade upto M20 arc desi gnated as |
a) O w_.:dw work b) Pre tensioning WOrk
r H

joning work
c) Special work d) Posttensionis

Mix design must be performed for ._ s loadeq

structures.

a) Heavily b) Small

c) Lightly d) Long

Incold weathering concreting can be used.
a) Retarder b) Plasticizers

c) Accelerator d) Damp proofer

The last and final operation of finishing 1s termed as

b) Trowelling
c) Finishing d) Stripping
If the pulse velocity 1s 4km/s-Skm/s than the concrete is

t

a) Good b) Durable M
c) Bad ‘d) Noneofthese
Section-B

Objective type questions. All questions are
compulsory.

UNitweight of RCCis .

In pre stressed concrete the stresses are induced %
moEm_cmm. - £

The initial setting time of OPCis

(2) 180741/170741/120741
L /030741

(10x1=10)

Q.14

Q.15
Q.16
Q.17

Q.18
Q.19

Q.20

Note:

Q.21
Q.22
Q.23
Q.24

Q25
Q26

Chemical reaction between cement and water is knows

as .

Bleeding can be reduced by using admixtures
like :

Grade lower than

should not be used in pre
tensioning works. :

The admixtures used in hot weather concreting are
called

RMC isused for columns only. (True/False)

Segregation can be prevented by properly storing
aggregates. (True/False)

Concrete is weak in and strongin : .
Section-C

Short answer type Question. Attempt any twelve
questions out of fifteen Questions. (12x5=60)

Explain the importance of concrete technology.

Explain the importance of grading of concrete. What are
the different type of grading?

What are the various compounds of cement? muﬁ_m.m:.

a) Writeashort note on initial setting time & final
setting time

b) Write short note on water - cement ratio

Explain compacting factortest.

What are the various factors that affect the durability of
concrete.? Explain.

(3)  180741/170741/120741
/030741
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Q.20 Write the various precautions to be taken, beforc and.

.

during the concreting cold weather conditions.
Q.21 Writcashortnote on “Fly Ash Concrete”.

Q.22 Describe the process of testing the strength ©
concrete using the rebound hammer test.

SECTION-D

Note: Long answer type questions. Attempt m:%l _Mco,
questions out of three questions. (2x8=16)

Q.23 a) mxw_mmr the procedure of grading of fine
aggregate in detail. (4 marks)

b) Describe the cffect -of storage on strength of
cement. (2 marks)

c) "Write down the criteria for the BSES_ of form
work as per specification given In IS: 456-
2007. (2 marks)

. i dure for design of
Q.24 Write down the stepwis¢ proce
normal concrete as prescribed by IS: 45 6-2007

Q.25 Enlist the various methods of transportation of
concrete and explain any one of them in detail.

(3460) 4) 220731

SRR SO TSR
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o y 2 220731
Roll No. ....coevveennee. \; _ .Wm ﬁ)\
3rd Sem / Civil Engincering
Subject : Concrete Technology
Time : 3 Hrs. M.M.: 60
SECTION-A

Note: Multiple choice questions. All questions are
compulsory ‘ (6x1=6)

Q.1 Whatis Concrete Technology ?
a) Concrete Technology deals with the study of bricks
b) Concrete Technology is the study of building materials.

¢) Concrete Technology deals with the study of properties
of concrete. ’

d) Noneofthe mentioned above

Q2 The compound of cement abbreviated as C,S
represents.

a) Di-calcium Silicate
b) Tri-calcium Aluminate
c) Di-calcium Sulphate
d) Tetra- calcium Alumino Ferrite
Q.3 Dimensional change in concrete occur due to
a) Creep b) Shrinkage
c) Elasticity d) Allofthese

(1) 220731



Q.4 Thecapacity ofa concrete mixer is measured in term

of - _ -
a) Totalvolume of concrete produced per day

b) Total volume of concrete _u:wa:ona in 8 hours
c) Volumeofconcrete mix handled per batch
d) Total volume of concrete produced per hour

Q.5 Surface vibratoris cffective only when the thickness
of concrete member does not exceed.

a) 100mm b) 125mm
¢) 150mm d) 200mm
Q.6 Forunder water construction cement
isused.
a) Portland pozolana Cement
b) Quicksetting’Cement
¢) Ordinary Portland Cement
d) Expansive Cement
SECTION-B
Note: Oc_.nom¢o\ Completion type questions. All questions
are compulsory. . (6x1=06)
Q.7 Adding water increases ] of the
concrete.(Workability / Strength)
Q8 __ istherangeofwaterinM-25 (21 Lto27
L/34Lto36L)
Q.9 Admixtures that cause early setting and hardening of
concretearecalled_ (Retarders/Accelerators)

2) 220731

Note:

Q.13

Q.14
Q.15
Q.16

Q.17
Q.18

Q.19

If fineness modulus of sand is 2.5, it is graded as
(Finesand/Coarse Sand)

Compaction factor test is applicable when the size of
coarse aggregate is up to (25 mm /40
mmy)

Concrete is not recommended to be placed at a
temperature above (40°C/50°C)

SECTION-C

Short answer type questions. Attempt any eight
questions out of ten questions. (8x4=32)

Write any four advantages and four disadvantages of
concrete as a construction material.

Write a short note on™ “Specific Gravity of
Aggregates.

Ummna_um the effects of water-cement ratio on the
strength of concrete.

Write down the various causes of segregation in
concrete.

Write a short note on “Mineral admixtures’.

Write down a short on "maintenance and care of
Mixes".

Write down the objectives of curing of concrete.

(3) 220731



Q.27

Q.28
Q.29
Q.30

Q.31

Q32
Q.33

Q.34

Q.35

Note:

Q.36

Q.37
Q.38

(1980)

Py
: A(CO
Differentiate between the following-
i) Controlled and ordinary concrete 4
ii) Preliminary cube strength and works

strength . S

State the factors to be considered while amn_aEmA n_m..d
the use of admixtures. g
What are the various precautions to be observe AOOmv
concreting in cold weather? Explam. o
What are the methods of compaction of con

ube$s

Explain. Ammw
Explain the method of repairing the old concrete 9
? (CO9)

: 0

Give importance of non-destructive test. AOOH )

. . se?
What are the requirements of a good warehou

09
Explain. - %a.w
How will you determine the workability of a co coa)
using compaction factor test? (

What is bulking of sand? Explain and write note MHMM
importance. . (
SECTION-D :
Long answer type questions. Attempt any two ncnmmmw-m
out of three questions. . (2x10= w.
Explain the procedure to determine strength 0

aggregates using Impact Test. Daw the diagram impact

testing machine. A.OOMV
What are the various methods used for transportation of
concrete. Explain in details. Aﬂo&
What are the various chemical constituents of ordinary |
Portland cement? Explain the function and effect of each
chemical constituent. (C02)

e

(Note: Course outcome/CO is for office use cug. =

4) ;OE::S.%
120741/030741
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| Sem / Branch : Civil, Brick Tech,
Constr. Mgmt, Highway Engg.
Subject:- Concrete Technology
M.M.: 100
SECTION-A

Note: Multiple choice questions. All questions are compulsory

Q.1

Q2

Q3

Q4

Q5

(10x1=10)
Setting time of cement decreases by adding: {C0O2)
a) gypsum b) hydrogen peroxide
c) calciumchloride d) sodium oxide

For quality control of Portland cement the test essentially
done for: .

, (CO2)
a) settingtime b) soundless
¢) compressivestrength d) alltheabove
A concrete is said to be workable if: (CO4)

a) itshowssignofbleeding

b) itshowssign of segregation

c) itcanbeeasily mixed, place and compacted

d) itisinthe formofapaste

Water cement ratio is generally expressed in volume of

water required for: (CO3)
a) 20kg. b) 30kg
c) 40kg d) S50kg
Shrinkage in concrete can bereduced by using:  (COS5)
a) lowwatercement ratio
b) lowcementintheconcrete
C) properconcrete mix
d) alltheabove
1) 180741/170741/
120741/030741



Q.7

Qs

Q.I0

Note:
Q.11
Q.12

grades of concrete stipulated i IS,

f
The total pumber O
456-2000are: b 10 (CO,
5
MW w 2 mwu followi
tor shortens all ol tne INg except;
An accelerato (Co7)

a) settingtime
b) perod of cunng Py
c) periodof ﬂBo«E no». formwor.
of concrete ] .
mwammmwmmﬂrnn the concrete is partially mixed at the
central plant and mixing 1if completed enroute the
concrete is known as: . (COgy)
a) transitmix concrete b) readymix concrete
c) shrinkmix concrete d) noneof Ewm.m
Curing of pavements, floors, roof and slab is done by:
(C0O9)
a) membrane method
b) pondingmethod
c) covering surface withbags
d) sprinkling water method
The circulation of air in 2 cement warehouse should be:

(CO9)
a) forcedaircirculation b) average
€) maximum d) minimum
SECTION-B

Objective type questions. All questions are compulsory.
(10x1=10)
The chemical reaction between cement and water is
called ) (CO9)
. 2pparaws 1s used to determining initial and
final setting time of cement. (CO2)
) .180741/170741/

120741/030741

Q20

Note:
Q21
Q22

Q.23

Q.24
. Q25

Q.26

mnmmﬁ. the water-cement ratio is the strength of
concrcte. . (CO3)
As the slump incrcases workability decreases.
(Truc/False) (CO4)
Tensile strength of concrete is about percent of its
compressive strength. {(CO5)
The admixtures used in hot weather concreting are called

. (CO7)

The curing in cold weather should be continued for 3

days only. (True/False) (COB)
The volume of one cement bag of cement is 0.05m’.

(True/False) (CO9)
Cement bags should be stored centimeter
away from the wall. (CO9)

Magnetic methods are used to measure of
reinforcementin R.C.C. (CO10)

SECTION-C
Short answer type questions. Attempt any twelve
questions out of fifteen questions. (12x5=60)
What are the requirements of a good concrete? Explain.

: (CO1)
Give the classification of aggregates according to their
size. (CO2)

What do you understand by fineness of cement? Give the
procedure to determine the fineness of cement.

(CO2)
What is water cement ratio? What is its importance in
concrete strength? Explain. (CO3)
State the difference between segregation and bleeding.

(CO4)

Explain the properties of concrete in green stage. (CO5)
(3 180741/170741/

120741/030741



3020)

¢)  Thicknessat column face =400mm
d)  Thicknessatends=250m
Rase Concrete =1:6"12=2.3mX2.3mX 0.3m

e)
f  Total depth of foundation =1.0m
Reinforcement

a)  Mainbar=_8nos-20mm @ bars

b)  Anchorbars=2nos 14 mm bars
¢)  Stirrups = 2 Legged 6mm @ bar@ 150 c/c upto 1/7 and @

300 ¢/c in the remaining part, (Where, 1 =Effective span)

draw the X-section along the longer span 31}(1 plan o
reinforcement of a two-way RCC slab from the following data:
a) Sizeofroom=4.75mX6.25m
b)  Thickness of slab=200 mm
c¢) Bearingofwalls=180mm

Reinforcement parallel to shorter span (with alternate bars
bent-up at 750 mm from edge of slab):

a) Middlestrip-10mmdia @ 170 mmc/c

b) Edgestip=10mmdia @290 mm c/c

Reinforcement parallel to longer span (with alternate bars:
bent up at 960 mm from edge of slab):
a) Middlestrip=10mmdia @ 190mm-c/c )
b) Edgestrip=10mmdia @ 360 mmc/c
Torsional reinforcement (both top and bottom: 1060m from
edgeofslab): :
a)  10mmdiabars @ 170 mm c/c parallel to shorter span
b) - 10mmdiabars @ 190 mm c/c parallel to longer span
Draw the longitudinal section and two cross sections (one at mid

span and other near the support) of a doubly reinforce RCC beam
with the following data:

a)  Sizeofbeam=300mm X 500 mm

b}  Clearspan=5.0m

c Bearing on walls =300 mm

d)  Maintensile reinforcement =5 bars of 20 mm dia in two tiers

(3 bars inthe lower tier and 2 bars in the upper tier)

)  Thebars of the upper tier are bent up at L/7 centre of support
) Spacerbars=20mmdia@ | mc/c
g)  Compression reinforcement =2 bars of 12 mm dia

h)  Shearstirrups =8 mmdia 2 legged @ 190 mm c/c

. 220751

,‘\.\_A “5. of Printed Pages : 4 o
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ROILNO. .coverevvenennens
5th Sem./ Civil
Subject : RCC Design & Drawing
Time : 6 Hrs. 7 M.M. : 120
SECTION-A
are compulsory.

i ice Questions. All Questions
Multiple Choice Q il

Note:
Q1 When the slenderness ratio of column is less than 12, then it is
termed as s _
a)  Shortcolumn , b) Longcolumn
d) Noneofthese

¢) Medium column ( e
The maximum value of span / depth ratio (I/D) permissible in case

Q.2
of simply supported RCC beam is
' b) 15

a) 5
c) 10 : d 20
Q3  For making a standard U-Shaped hook, the anchorage value
prescribedis . :
a) 4 b) 120
0 80 d 160

Q4 Pre-stressed concrete helps inavoiding .
a) Diagonaltension b) Excessive deflection

¢)  Crack formation d) Allofthese

Qs Thebeamis doubly reinforced, when - ‘
a)  Mu=Mu(lim) b) Mu>Mu(lim)
¢) Mu<Mu(lim) d) None ofthese
Q.6  Unitweightof R.C.C.inkN/m’ is :
4 I ‘ b) 25
c) 24 d) 26
Section-B
Note: Objective type questions (Select the appropriate option). Al
by questions are compulsory. (6x1=06)
Q.7 is the minimum number of longitudinal bars required ft

circular column. (4 Nos./6 Nos.)
Q.38 Hooks of stirrups must be provided in Zon

(Tensile/Compressive)

2207:
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Section-C any cight questions out
j (8x4=32)

- tvpye Question. Attempt
Note:  Short answer OP¢ Qu P
J i en Quesions, e
{;?ﬁlﬁ\. :;\ur;tdnm!ngcs and four disadva
WHic any ¢
»50mm X 500 mm ctfective has a shear force of
Mc cteel is 1% find the nominal shear stress in the
hear design. Use M-20 Grade of

ntages of pre-stresseq

Q‘ 3 concerele
Q.4 An R.C.C. beam -
J00KN. Ifthe tenstl

E;mm and conznje{uG u;éono fssrecl
~oncrete and Fe<4 15 Grade el. . .
gj,;iir; r?zc ultimate 111:1ximur1‘1 bending morncx;é L?:a. slab simpl
supported over a room of size 5Sm X 7m as peg Code I\lf.et?Od.
The edges of slab are not held down. Thlive load on the slabis 3.10
R‘;\’,‘m-‘.”]’he slab has a bearing of 150mm on the SUPPOI'UHg walls.

Use M-20Grade of concrete and Fe-415 Grade of steel.

Describe the relationship between yield stress and percentage

Q.15

R clongation of a steel bar. '

Q.17 Describe the design stress-strain curve for concrete,

Q.18 A singly reinforced rectangular beam of width 250mm and
450mm effective depth is reinforced with 4 bars of 20mm
diameter. Find out the depth of neutral axis and specify the type of
beam. Use M-25 Grade of concrete aqd Fe_—250 Grade of steel.

Q.19  Determine the development Ieng_th, ifa simply supported R.C.C.
beam 300 mm X 500 mm (effective), has a clear span of Sm. The
factored shear force at the centre of 300 mm wide support in 120
kN. The beam is reinforced with 4 bars of 20 mm diameter (out of4
bars, 2 bars are bent up). Assume cover to reinforcement on all

sides as 30mm. Use M-20 Grade of concrete and Fe-415 Grade of

steel.
Q.20  Wmteashort note on characteristic strength of concrete.,
Calculate the areas of tensile steel for a simply supported and

Q21
singly reinforced rectangular beam having clear span 4.25 m and
supentmposed load 6.25 kN/m. Use M-20 Grade of concrete and

Fe-415 Grade of steel. -
220751

-

Note:
Q.23

Q.24

Note:

Q.26

Q27.

Write the various differences between One-Way slab and Two-

Way slab.
SECTION-D

Long answer questions. Attempt any two guestion out of three

Questions. (2x8=16)

Design a short circular column to carry the service load 1100 kN

using helical reinforcement. Use M-20 Grade of Concret(ecagg)l:e-

415 Gradc of steel. Assume e, <0.05D.
An RCC beam 400mm X 600mm effective is subjected to a

working bending moment of 400 kNm. Find-the area of steel
required for beam. Use M-20 Grade on concrete, Fe-415 Grade of

steel and d'= 50 mm.
Design a simple supported RCC one way slab to carry a factored
load of 15.75 kN/M’ (including self weight) on an effective span of
3.25m. Bearing on wall = 300mm. Use M20 concrete and Fe-415
steel. (Assume any other missing data)

SECTION-E
Attemptany three questions out of four Questions.
(3x20=60)

Draw the sectional plan and sectional elevation (assume suitable
scale) for a circular column with isolated footing of uniform
thickness with the following data:

a) Diameter of Column = 500 mm
b)  Size offooting = 1200 mm X 1200mm

¢) - Thickness of footing =400mm

d)  Depthbelow ground level =900 mm

€) Plinth level above ground level = 300mm

) Heightof ceiling above plinth level = 3300mm

Footing‘ rein forcement:
a)  Reinforcement both sides =16mm 0250 mm ¢/c

Column rein forcement:
a) Main longitudinal bars in colum=8-20 mm 0
b)  Lateralties in columnp = 10mm 6 @250 mm c/c

Draw a detailed cross-section of column to beam connection over

two floors with the following data:
a)  400mm X 400mm above ground level and 600mm X
600mm below ground level upto 300 mm depth

b)  Footing=2.0m X 2.0m
220751
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Q.37

Q.38

Q.39

Q.40

Q.41

(2260)

Supporting walis around 15 320mm L
L.SKN/n’ weight of weathering course in 1.

Design a cireular column to carry an axial 102
COlUInn has an cffective Icngib of 2.75 meter-

Fe415 steel.

is
1ve joad on the :‘;lab ,
v ad,
75kN/m. i -

d of
5 concre

he
1o 0
Usc

rccmngl}lar bef;n

tance of 8 F€¢* ps
ter in t¢
. 20

Determne the ultimate moment of resis gi
bars of 20mm 1am . Use]

250mmx500mm reinforced with 6

~onc and 4 bars of 18mm diamete
cancrete and Fed 15 steel. Take d' =50mm.
Section-E

Note: Attemptany two question out of three Questi
ss sections ©

Draw the L-Section and two cro

doubly reinforced rectangular RCC beam wi

Clearspan:3.5m
Beam size ;: 250 mm x 500 mm

Bearning on the wall : 150 mm

Tension Reinforcement : 6No's 16mmd
fsupport. .
4 No's 12 mm dia bars out of which W0

are bent up at #/7 from centre o
Compressing Reinforcement :

r in compression zone. Y°

ons. (5
f a simply suppo

th the following data:

; s
ia.bars out of which tW0 bar

bars are bent up at /7 from centre of support.

Stirrups 8mm dia @ 200mm C/c
Anchor bars : 2No's 12 mm dia bars

Draw the sectional plan and elevation o

following data:
Room Size:3m X 7m
Thickness of slab : 150 mm
Bearing of slab : 250 mm
" Mainreinforcement : 12 mmdia @

f a one way slab wjth the

150 mm C/c, alternate bar bent up-

Distribution reinforcement : 10mm dia @200 mm Clc .
following

Draw the sectional plan and elevation of a co

data:
Column size ; 500 mm x 500 mm

{umn with the

Longitudinal bar : 16@20 mm dia bars
Transverse bars : 10mm dia bar@300 mm
Base reinforcement - 10 mm dia bars @ 200 mm C/c both ways.

Footingsize:2.5mx2.5m
Footing thickness at free end is 15
mm, depth below G.L. is Im.

4)

0 ham and at column face is 400

180751/030751/753
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2+ * Reinforced Cement Concrete Design
nne @ 6 HI'S. M_M¢ . 150

Note:

Q.1
Q.2
Q.3

Q.4

Q.5

Q.6

SECTION-A

Multiple type Questions. All Questions are compulsory.
‘ (10x1=10)

Minimum grade of concrete to be used in Reinforced concrete as per

18:456-2000is
a)  Mis
c)  M2s

b) M20
d) M30

If the depth of actual neutral axis in a beam is Jess than the dept of
critical neutral axis, then beamis called ' i

a)  Balanced beam b)
¢)  Overreinforced beam d)

Under reinférccd beam

None of the above

According to 1S:456-2000° the maximum compressive stress in
concrete for design purpose is taken as '

a)  0.370f, b) 0416f,
¢)  0.446f, d)y 0670f,

According to 1S: 456:2000 the maximum strain in concrete at the
‘outermost compression fiber in the limit state design of flexural
member is

Q)  0.0020 b) - 0.0035

c)  0.0050 - d) 0.0065

Prestresing cannotbe provided in : |

a)  Beams b) Slabs

¢)  Girders d) Arches

In the limit state method, balanced design of a reinforced concrete

beam gives

a) Smallest concrete section and maximum area of reinforcement
b) : Largest concrete section and maximum area of reinforcement

(1)

180751/030751/753



mumarea ofrcmforCCmcm

pimun ared of rcmfol-chCm

c) Smalles Co;-)v{"{:-'\‘,’l <scssableroofis taken qq :
{ oS .) [orll'C”'*

‘ 5 L
d) L(\lgcgwoﬁ]‘iﬂp\ n, b) 1

3 1‘!!!(! punt

1
-f1 .
on »11"{”]'

4

74 Mini Sad{t
e Minimum [jve 0
the allowable strec. .
gular bean?, g ress iy

a) |
) atl
<5 in !ensioﬂ in steel
e B in tension in steel
conipre ]nﬂICI‘ S

quil O L ormisSiPIEST L hion in steel
a) MU‘ mnthcpcm’ﬁ | SsmtenSIO X
b? sopcrete COMPIEssion stresg

in T-beam will be

¢y 2 s
> h,\ ,rCT()‘
Q.8 In a dovt " stoeliS

nissibie”
t, i reqmred,
; 0.1% of the web ,elrcexea

(JAI 506 0f the web areé

b)) 0.2% 0f0.3% of the W€
C 2

Q.9

[

parea dep pding Upon the breadtp, Fihe

\(-'Cb ., v forcemem '
.1 dinal el !

Halfthe Iongmﬂ(ff;’mm) o the main steel bars in slab Provigeq

ver (1

d)
Minimum clear 6356;2000 s

. as compared oIS 5
o dy 40
T Section-B :
jons are compulsory.
f . ns. All questions are ‘
Note:  Objective typequestions ' o .
tate of servi ceability.

.11 ExplainLimits
g 12 V»;p;l isprestressed con_crete? T
Q 13_ Define slabs and write different ’typ s )
Q.14  Explain Under-Reinforced Sec')txons 0 _
15 " acteristic strength? . |
Q.15 ggﬁésgg agrcmula of Moment of resistance for over rejp e

Q.16
tion. 5
Q.17 igz{;t?pam;al factor of safety for concrete and steel and why jt ig More
in case of concrete? ; :
Q.18  Whatis TOR steel used in Reinforced concrete element.
Q.19  Define Neutral Axis. g L
Q20 Write the circumstances under which doubly reinforced beamg are
used.

2) 180751/030751/753

- Note:

Q.21

Q.22

Q.23
Q.24
Q25

Q.26
Q.27

Q.28

Q.29

Q.30

Q.33
Q.34

Q.35

Note:

Q.36

votion-C
i tempt any twelve questions out of

Short answer type Question. At (12x5=60)
fifteen Questions. 400mm is reinforced with 4 bars
A singly reinforced l;f;lg %ﬁ:lﬁtgrﬁate moment of Tesistance of the

of 18mm diameter.
beam section. Use M20 conc

Find the area of steel required for a short r
400mmx400 mm to carry an axial load of 1

andFe415. ) ‘
Write the steps for the design of shear reinforcement.

Write a short note on curtailment of bars,
Why a T-beam is considered better as compared to a rectangular

@ 15 steel.
ol einforced concrete column
195kN. Use M 20 concrete

beam? ,
Write the 5 differences between LSM and WSM.

Loss due to shrinkage of concrete occurs in pre-tensioning or post-

tensioning or in both. Explain the loss for your answer.

An RCC beam 330mrn x 600mm (effective) is reinforced with Fe4135,

6 bars of 18 mm dia also 8mm dia 2 legged vertical stirrups of Fe 415

steel are provided at 200 mm C/C spacing. Calculate the ultimate

shear strength of the beam section. M20 grade of concreteisused.

Ashort RCC column 300 mm x 300 mm is reinforced with 6 bars 0f20

mm diameter. The effective length of the column is 3 meter. Find the

ultimate load for the column. Use M20 concrete and Fe 415 steel.

A reinforced concrete slab is supposed to lay over a room having

inside dimensions 3m x 6m. The thickness of the supporting wall is

250 mm. Live load over the slab is 2.5kN/m’. Use M20 concrete and

Fe415 steel. Compute the dept of the slab.

Enlist the 5 difference between one way and two way slabs.

Determine the maximum UDL a beam of 200 mm x 400mm

reinforced with 4 bars of 20mm diameter can carry. Span of the beam

183 meter. Use M20 concrete and Fe415 steel.

Enlist ﬁvq assumptions made in limit state of collapse.

v\gll]l_y Eommal cover toreinforcement is provided? . ;

JuSti?y ;}(’)II); 2; :ij:;s faore economical one way or two way and why?

Lon Section-D

a <

Qu esgn.o':l?'ver questions. Attempt any two question out of three

Desi i ~ (2x10=20)

cleargd?rr?eﬁ?pb; supported two-way slab for the roof of a room of
on >mx3m. Using M25 grade concrete and Fe415 p.

steel. The corners age not pr e e415 grade

prevented from lifting. If the Width of

3) 180751/030751/753



R,

1 x 6 m as per IS code.

ssi clab over a room 4.5 n1 X s .
D"‘ﬂ‘%l,]:u&hgncd on masonry walls all round, 4"‘,d ,‘[’f,);glslﬂb hos d
Tk pp’_mc live load on the slab is 3 kN/m". T] nerete 2

éﬂ?‘t&? \;;’LISO mm on supporting walls. Use M20 c0

[ P 2 qaiact il
Q.38 If):g;gi;fnc the ultimate moment Oft;‘:‘;‘s;f:’r’scz ?2{; I ::r(l.rlltlmdl_}amct .
g . 6 sinforced with 5 bars o :
jogg;n;:nfg?rg?bﬁng}r‘% mm diamcfcr in compresswﬂ
(l}:éfwzo concretcand Fe 415 steel. Take d'= 60 mm
SECTION-E _ (2"255 50)
i fthree questions. o e
Jote: Attempt any hvo questions out o ‘ b
3 g“; I;z:ff :;th gcctiona[ plan and clevation of.a column

following data : .
Column Size: 60012‘; ();. 600(;?“]
Longitudinal bar : 8 mmdia
Transverse bars : 6 mm dia bars @ 300mm g
Base Reinforcement - 12 mm dia bars @200 mm C/C both .
s 5

Q.37

peas?
[ar . in

Footing size : 3mx 3m :
Footingg thickness at free end is 200 mm and at column face
mm, depthbelow G.Lis 1.5m : ) d por“’d
Q40 Draw the L-section and two cross sections of a symply Sup
RCC beam with the followings data:
Clearspan: 3m
Beam Size : 300 mm x 300 mm

Bearing on the wall : 150 mm . pars aré
Main reinforcement : 6-12 mm dia bars out of which two

bentup at 1/7 from centre of support.
Stirups 6 mm dia @ 200 mm C/C
Anchor bars: 2 No's- 10 mm diameter : lowing
Draw the sectional plan and elevation of a slab with the follo ,
data:
Roemsize:3.5mX 7m
Thickness ofslab: 175 mm

Wall thickness : 300 mm ¢
Main reinforcement : 12 mm dia @ 150 mm C/C, alternate bar ben

up. :
Distribution reinforcement : 10 mm dia @200mm C/C

Q41

(2340) “4) 180751/030751/753

No. of Printed Pages : 4
RoliNo, . %

Subject.. Reinforce

Time . 6Hrs.
SECTION-A L
Note; Multiple choice questions. All questions are co(lilcl))ulleng
. X 1=
H Minimym, grade of concrete to be used in plain concrete used under
S€awater ag perIS: 456 - 2000 is '
) Mis b) M20
Q2 P M2 d) M30
isor areinforced concrete section, the shape of shear stress diagram
g) Wholly parabolic
c)) Wholly rectangular
Parabolic above neutral axis and rectangular below neutral
axis : -
‘ L™ Cctangular above neutral axis and parabolic below neutral
Q.3 Th axis
; Se COmpressive strength of concrete determined from 150 mm x
3 00 ™m cylinder as compared to that determined from 150 mm x
Omm cylinderis i :
3)  more b) less
Q4 2 doroal d)  noneofabove
s (I)Ubly reinforced beam is considered less economical than a
i) 8ly reinforced beamn because.
tenf}]e steel required is more than that for a balanced
Section
E)) shear remforcement is more
a0 Concrete 1S not stressed to its full valye
Qs Compressive steelis under stressed

(Spl Highway Engg)

Limit State of iIss(rviceabilit'y for deflection including the effect due

d Cement Concrete Design and Drawings

M.M. : 150

to Creep, shr a
~¢€p, ge and temperature occuring after erecti !
4 . [ ; on of
partition and application of finisher as applicable to floors and

roofsig restricted to
3 span/150 b)
©)  span/25 0

(D

span/200
Span/35(

180751/030751/753 -




to the main steel bars in e,
N bea
ms

p—
_over (0 P20 2000 s
.\limrmim ,C,E;’::p:‘u?(i oIS 456—‘(‘:‘;) 15
C 4 pm\'ﬁd(aiﬂ-" e d) 4.0 "
= 4 design of singl .
al e palanceC gly r
o) :5‘5 ge of ¥ lwui:};mtcmcthod depends on Cinforcey
oy P Sty o
s

_n?\.‘i;Ul.__ ‘ WX .
Lhﬁ!ﬂcm— ‘t‘{?&l
t:)) yicld ;‘”ﬂﬂ?ﬁgk:y of steel
odulus a
C} moe o
b allof e
“:’)mb_ﬂredc,s‘gned {Of
Bei Shear force oz‘xm b
nom ™. and bending moment

QS
~nding @
Cﬂdlgcgar force an

e dcprhhof actual neu bearm iS called
f - then beal -
under reinf
b) Oor Ced be

d)
e’ 1ol axis
critical neUv e
4 f
a)) gfrje‘;ﬂrgg:fo ed beamt d) none of aboye
< A : .
Q.10 Asaaréd‘;jrzzsadeo 3)) ;xrrzz
1) i
g il SECTIO! -B
[ com
Objective typequeStion.S. . guestxonsare pulsory, o
odl ‘J?ain Limit staté of durabillty- o |
"I‘Z %’gteany o Cause oflozg)esmpres .
3 1 istic load’
cteristic | |
e 1 - qum grade of concrete t© be used in N

coﬂcr_etemcﬂlggrl_zforced Sections foran RCC section.

e odularratio
u : .
erm MO ¢ of resistance for under reinforceq

> :
Define meformula O Momen

101
‘ Beam.
Q.18 g,;f:é,fgi’;t ~ndvolume of 1 bag of cement.

Q. b
020 DefinetwowaY 20" cp qON-C
tions. Attept any twelve questions out of

Note;  Short answer 0Pe4U® (12x5=6
ffoas. ) i =
- fifteen qUESER . eam 300 mm X 600is reinforced with 2 bars (3‘

: ngly reinforce : _
02 gsﬁiydﬁmgen Find the ultimate moment of resistance of the
M 20 concrete and Fe 415 Steel.

beam section. Use
(2) 180751/030751/753

Q.22
Q.23

Q.24

Q.25
Q.26

Q.27

Q.28
Q.29

Q.30

Q.31

Q.32
Q.33
Q.34

Q.35
Note:

Q.36

Write the significance of development length in the design of

reinfosced concrete structures.

A short RCC column 400 mm X 400 mm is provi
length of the colu

16 mm diameter. If the effective
find the ultimate load for the column- Use M20 conc

steel.
A reinforced concrete slab 15 supposed to lay over a room having
inside dimensions 3 m x 7 m. Thickness of the supporting wall is
300 mm. live load over the slab is 2 kN/m". Use M20 concrete and
Fe 415 steel. Compute the depth of the slab.
What are the considerations that govert thic
two way slabs? . .
A short RCC column 450 mm X 450 mm is reinforced with 8 bars”
of 20 mm diameter. 10° offective length of the column is 2.75
for the column. Use M20 concrete and

meter. Find the ultimate 10ad
lved in the design of Axially loaded

ded with 8 bars of
mn is 2.25 meter,
reteand Fe 415

kness of one way and

Fe 250 steel.
Describe various steps invo
column.

How shear is resisted in the beams? Explain.
Explain at least four assumptions which are use
concrete structure by Limit State method. :
Enlist three advantages and disadvantages of pre-

as compared to reinforced concrete.
Write two cases of critical sections for shear design as per 1S: 456-

2000. _
Defirie bond stress and development length.
nditions for T-beam action?

Write the three necessary €O
An RCC beam 250mm wide and 500 mm deep (effective) is
£20 mm dia also 8 mm dia 2 legged

rein_forced with Fe415, 4 bars 0
vertical stirrups of Fe 415 steel provide at 200 mm C/C spacing.
Calculate the ultimate shear strength of the beam section. M20

Grade of concrete is used.
hich span in a one way slab and why?

Main steelis provided along w
SECTION-D
ons out of

Long answer type questions. Attempt any two questi
(2x10=20)

three questions.
Design a circular column to carry an axial load of 1650 kN. The
column has an effective length of 3 meter. Use M 25 concrete and

Fe415 steel.

d for designing of

stressed concrete

(3) 180751/030751/753




Q.29
Q.30
Q.31
Q.32
Q.33
Q.34

Q.35

Note:

Q.36

037

(2000)

f

4 a sub b8
Write differenc® petween a base course ana ¢
course. ' ‘
Define jandslides Write classification and ¢2
landslides. ‘ ;3
Define road drainage. List ;he requirements of a B
road drainage system- g
What is theroad maintenance? State the common
of failure of flexible roads.

Define pot hole. State the-cau
] measures to betaken.

uses 0

d

. he
ses of formation and ¢

remedia oWl

State the difference between a dragline and 2 P

shovel. oy
State the necessity of studying the airport engineel

Section-D
Long answer questions. Attempt any (2110‘20)

out of three Questions. , _ 3
Define curve. Write necessity and advallt-':lg@jﬂta
providing curves. Explain different types of horiz0™

curves provided in highways giving sketches. ]
Define water bound macadam road. Explain the methg
of its construction. Write the advantages 2

disadvantages.
Write notes on the following:
a) Lowering the water table
b) Seepagecontrol

¢) Capillary control

I

(4) 180752/170752/120752
| 1030752

two questi”’

! e
t
t

No. of pyi })&ﬁ)/crn A
Ry O Printed Pages : 4 13 ] Rorsariorsanaorsa
........... /030752

Sth Sem. / Civil., Constr. Mgmt., Civil Engg.
| (Spl Highway Engg.)
Tim Subject : Highway Engineering
€3 Hrs. | M.M. : 100

Note. : SECTION-A
* Multiple type Questions. All Questions are
Q1 Compulsory. (10x1=10)
The organization which recommends specifications-for
roads in India | |

@ MOST b) CRRI
Q2 ;)h o d)’ NAHI
' € permissible gradient which i . |
type of vehicle s : is' convenient for all

a) Minimum Gradient b) Limiting Gradient
03 ;‘)h i fRullng Gradient d) Exceptional Gradient
nal survey ofroad alignment is the :
a)  Reconnaissance Survey
'b)  Location Survey
¢) LandSurvey
d) Traffic Survey

Q4  Bitum
en of grad L : .
W e afg 70e 60/70 indicate that its _ lies

a)  Crushing Value - b) ImpactValue
¢) Penetration Value d) Softening Point

(D) 180752/170752/120752
/030752




structed in :
v oS
sty X ‘oncrete

eSS L ment Conerete R()n(]
e 15 B,:,,,;mnom Roag

. B » % |
Jplﬂf“)‘ ; R'\'“{ ( bC'O‘v [h(/ rﬂﬂd l)cd f‘
a) G, ad ym\'id""] Or
u ) ‘»‘\f’ L 'fl‘
y W ch {92
) s i L.(]ru-

"
Q.5
side Gutter Draing
N Cat ch Water Drajp g
( . Yy O A
hie water across the roaq by

| W
4o 1Y 182
._rhi‘,‘ i k‘}"f.ﬂ 24

-8

Q.6
= ns 1t
o Dr wpoSl”got Drai
A oss Drainage
Tht'r’mi.t,,ﬂ,’ . qﬂﬂb) cr i}
g . prainag ) None ofthese
Suri >

on WiE itumen :
Iron ¥ 5“’ofbﬂzfscdue“’fa“movmgVellicle

) o |

5) Distresses digging much beo,,, e
A which can

7 chzzfgposf tiom: b) Dragline

Seraper g+ Shwsh < s
{ airport 10 park aircrafy for

p@l’fo

a)
c)

j0 A close )
Q aintenabCels:

a) Apron
¢) Aerodrome

b) Airfield
d) Hanger

Section-B .
All questionsg are

jons.
Note: Objective YPe questl el 3
compulsory.
1] Defineall weather roads.
12 Define camber. k
180752/170752/1 20752

()
/030752

Q.13
Q.14
Q.15
Q.16
Q.17
Q.18
Q.19

Q.20
Note:
Q.21
Q.22

Q.23
Q.24
Q25

Q.26
Q.27

Q.28

Defline prelimina ry survey. "
. y ooy ay construction
Write the materials used in highway con

Whatis soil stabilization?
Whatis bridie path?

Write the types of causcway.
Define Cracking.

Whatis hot mix plant?
Define airfield.

Section-C

Short answer type Question. Attempt any t;"fé‘(’)"
questions out of fifteen Questions. (12x . =60)
What does JRC stand for? Write its functions and list the
IRC classification of roads. ' ‘
Define gradient. Write the factors affecting the gradient
foraroad. Listit's the types. \

What is sight distance? Explain different types of sight
distances.

Discuss the basic
alignmentin plain area.

What is I€connaissance survey? Enlist its objectives and
the information (o be collected.

Enlist any five requirements ofa goodroad aggregates.
Define the softening point for bitumen. Explain the
procedure to determine it ip the laboratory.

What is the rigid pavement. Write its merits and
demerits. ‘

considerations governing the road

()  180752/170752/120752
1030752




o and
Q.28 What is the flexible pavement, write 18 men?
dements, uctfon
Q.29 Definc premix carpet. Dis
steps for its construction.
Q.30 Define soil erosion. Discuss tl
soil crosion,
Q.31 Define sub-surface drainage. Discuss the
providing sub-surface drainage in roads. clives
Q.32 What is the road maintenance? State the 0bJ°
of road maintenance. S ©
Q.33 Define corrugations in roads. Stale the cat
formation. :
Q.34 Write the safety measures to be taken while W orkife
in a hot mix plant.
Q.35 Discuss the factors to be considered W
the site for an airport w.r.L. zoning 1aws.
SECTION-D WO
Note: Long answer type questions. Attempl al;)(/):z())
questions out of three questions. (2x g
Q.36 Define binder. List the functions they P?rfortaﬂ
binder. Explain different types of binders 10 de tl;o
Q.37 What is cement concrete road? Explain the M
of construction of cement concreteroads.
Q.38 Write notes on the following:
a) Dumpers
b) Dragline
¢) Powershovels

cuss various consty

ol
1 methods 10 con

methods of

hile selecting

180752/170752/120752
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th Sem / Civil, Constr. Mgmt., Civil En
(Spl Highway Engg) 5

Subject:- Highway Engincering
MM. : 100
SECTION-A

Nog
€ Mule: : :
Multiple choice questions. All questions are

Q. E:lf;?:lp'l,‘llsory (10x1=10)
) 1¢ kilometer stones painted with white base and
E&l,)reon top depict a:
& ;://Illl'agg Road b) National Highway
Q2 The ajor District Road d)  State Road
‘)éh:p‘f)rtlon of road visible ahead of the driver of the .
5 icle and clear of all obstacle is:
&) Sight Distance
8\/ ertaking Sight Distance
d) StOpping Sight Distance
03 The d?}S_fsmg Sight Distance
conneétffgrem places having importance to be
wtied with the proposed road alignment are

shown in:
a) Index Map
Key Map

(c:l)) Land'Acquisition Plan
Q4 | Detailed Location Survey plan
. €St conducted to acces bili ;
P ceess the ability of a roas
i Ign et01e51stfractureunderrepeatedloadis:
0 A b]?@?:Test b) Duectility Test
rasion Test d) Penetration Test

(D 180752/170752/1 207
10307



BRI \

ed surface; the applicatjq,, of py

srOls Un‘rca i ) W
G,ﬁ ‘(;!:: ity bi{mncn b) Prime COat
o Tack g’:: d) BE;se goat
3y Seal Coat as aresult of teng; _
Z}élﬂdslid@ which 0c€Uf ol faﬂlure
0.6
Q ot b) Complexy z, ds};
g) Flow d) Slides Wdey
 Fall . system, t
Ic) cub surface drainage sy he method
n

nket over full emy
Q7 oviding sand Pl2 kmey,

' falls under:
ﬂt]Comzrcd of seepage flow

. table
ering the water 12
b) g;z/trol of capillary rise

c
fthese _
gfmfga{;ring, the pot boles should be ey ¢

wid

b) Rectangylar Shap,

n.
: e
2) Oval Shap d) Irregular Shape

o) Circuleu;1 sfhape
icysed 101:
Srad;i e}; aring Subgrade

b) * Preparing Top Surface

;) Shaping Subgrade

d) SiteCiearanc? S e e, e .
Q.10 The paths on the airfield surfa gned tor taxing

09

the aircraft:
a) Runways b) Aprf)ns
¢) Airfield d) Taxiways

@ 180752/170752/12075,
/030752

' Note:

Q.11
Q.12
Q.13
Q.14
Q.15
Q.16
Q.17
Q.18

Q.19
Q.20

Note:

Q21
Q.22
Q.23
Q.24
Q.25
Q.26

Q.27

SECTION-B
Objective type questions. All questions are
compulsory. (10x1=10)
Define expressway.
Define carriageway.
Define location survey.
Write two functions of road aggregates.
What is mud pumping?
List the main causes of soil erosion. |
What is berm?
Defineresurfacing.
Write the types of shovels.
Define runway.

SECTION-C
Short answer type questions. Attempt any twelve
questions out of fifteen questions. (12x5=60) .
Define NAHI Write functions of NAHI. .
What is camber? Give its functions.
Define super elevation. Explain anyone methods of
providing super elevation. :
Discuss the basic considerations governing the road
alignment in hilly area.
What is preliminary survey? Discuss the stages to
conductit.
Define bitumen modifiers, Discuss the purpose of
adding these materials.

What is the aggregates crushing value? Explain the
procedure to determine it inthe lab oratory.

(3)  180752/170752/120752
1030752
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SECTION-A
Note: Multiple Choice Questions. All Questions are
compulsory. (6x1=6)
Q1 The inward transverse inclination given to the cross
Section of carriageway is called gradient. (COI)
a)  Camber b) Embarkment
‘ ¢) Slope d) Superelevation
Q2 The bitumen containing inert material .(CO3)
a) Tar b) Cutback
¢)  Asphalt d) Emulsion
Q3 The major problem of hill road in winter season. (CO4)
a)  Snow avalanche b) Landslide
¢)  Snow fence d) Snow makers
4
R Pot  holes for repair should be cut to size in -
: (COZ)

- shape

b) Circular

)  Rectangular
d) Triangular

¢) Square

220752
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g

- ‘ﬂ'!..,\\‘;
h mm'i;nj, papulat ((¢l;l§)3“
Q.5 Which tv ¢ “}5““”": ,T{f&:'ﬁpﬂn‘ 3)
- }DC‘ ()‘ o lond PS
energy efficiency p L
a)y  HPS g LEDS 2
o & i Jment in (he year ( 0O6)
galstis
Q6 C.AOMWT e p) 1950
a) 1942 d) 1947
Sc'ction—B
ions. All -
. ¢/Completion tYP€ questio questiong
Note: ObjectiVé (6x1=¢)
" arecompulsory .
' jetely solubled_—— (C03)
Q.7 Bitumen1s completety
Q.8 wBMroad is an exampleof __—— (CO2)
Q9 Define Retaining wall. ‘ ) - (COy)
Q.10 Thecurve in which convex1ty lies on the outer edge o,
' hillroad1s called . (CO 4)
Q.11 isthe compressible fillermaterial.  (CO 4
44 _/—”‘_‘
Q.12 DefineHanger (CO6)

Section-C

Note: Short answer type Question. Attempt any eight

Q.13
Q.14

questions out of Ten Questions. (8x4=32)
What are the advantages of providing curves?  (COQ1)
Write the function of N.H.AL (COY)

220752

%Y
(_)_15
Q.16
Q.17
Q.18

Q.19
Q.20

Q21
Q.22

Note:

Q.zé

Q.24

Q25

Whatis the necessity of road drainage system? (CO4)

it 1s

(CO%)

ductility test of
(CO3)

Name the various method of soil stabilization. Explain
mechanical stabilization. (CO2)

(CO2)

What are the causes of land-slides? How you will
preventthem? (CO4)

(CO5)

What are the advantages of air transportation as’
compared to other modes of tansport? (CO6)

Write short note on
neeessary.

resurfacing when

Write the procedurc to conduct
bitumen.

Whatis the function ofseal coat?

What are the main types of road signs?

Section-D

Long answer questions. Attempt any two question
out of three Questions. (2x8=16)

Explain Los angle's Abrasion test to determine hardness
ofroad aggregate. State its significance. (CO3)

(a) State the various types of camber. What are the
objects of providing camber. (COY)

(b) Whatare the advantages of super elevation? (CO1)

Explain in detail the maintenance of Bituminous roads.

2207




g \
» s - of Pring
Rol No __,fdp"&,cs 4 3///1{( 2207568
Sth Sem.
Branch : Civil
" Subject : Solid Waste Management
me : 3 yyg
M.M. : 60
. N SECTION-A
Ote: Mulﬁ & .
ple Choice Questions. All Questions are
1 Compulsory. (6x1=
' Which of the following/s is a bio-degradable
Waste? (CO1)
2)  Food waste b) Garden Waste
Q2 ©) Paper Waste d) Allofthese
' The process of decomposing bio-degradable waste is
called _ _ St (CO3)
)  Incineration b) Composting '
©)  Pulverisation d) Pyrolysis
Q3 Cardboard and cartons waste is disposed ofin ___ (CO2)
. a)  GreenBin b) BlueBin
~ ©)  BlackBin d) Noneofthese
Q4 Non-Ferrous metals can be separatedby  .(CO2)
a) - Screening |
b) Magnetic Separation
- ©  Eddy current Separation
d) Ballistic Separation
2207563 : (1) 220756B

4
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‘\II‘HE i .t s
pichof ;‘:jl;tt'*’ b) Chemical Disinfecling
Q \fvi;;"’n“-d!fﬁ . d) Sicvl.ﬂg
for .-ﬂcﬁ““’ o constituent Ley
et g for th d
a) ,uﬁ‘"-“ﬁﬂr X e_wasw (COS)
’ ¢ o EDT} compu_terlcloBUSmg
Qb _/m/,;z;ogrd h SojdermP s
poth®
8 . ‘
o ChipT™® Sectwﬂ " stions- All questipp,
completio” 77 e,
. &\,'9/ 0 . C
vote: Objecmpulson ( o1
: ﬁr’:co I.dWasle- ste anagement mles> a
4 Dcﬁnesm the Solid wacollects recyclable Waste
e 4 ccording [ persol hoound ’ and. Panis. for a
8 T %" jumpin g (Coy)
from streets, - solid wastes. (COl)
Jiving: urhé i quid that seeps throy
ame 8t 164 naté d ac
09 NEETL s contd™ T gjtes AT cumulateg
Q.10 ///g,slfe aispos® © (COq)
7 Solie Ve
00
 pefnep®”™ (COs)
Q g
012 pefine st secﬁﬂﬂ‘c
type QﬂeSﬁOB. Attempt aléy eight
Note: 5HO wengeB Questions- (8x4=32)
€S £Solid waste and explain an
frerent 7P © , 4
Name the (COo1)
: rwo with examples.

2) ' 2207568

) 4

/7
mcnd :
g reatment me y
otaw aste (COS) 1 .

Note:

Q.23
Q.24

Q25

izsn
Municipal
(CO1)
station concerning
(CO2)

scribe any four physical properties of
lid waste.
What is the necessity of the transfer
the transportation of Municipal Solid waste?

What is the principle of the composting process?(CO3)

What is the Vermi-Composting? (CO3)

What factors should be considered for site selection for
: (CO4)

alandfill?

Describe the various types of incinerators. (CO4)

What are the various sources of bio-medical
“ o (CO5)

waste?
Describe the classification of the bio-medical
(CO53)

waste.
What are the ill effects of the e-waste? (CO5)

, Section-D
Long answer questions. Attempt any two question
out of three Questions. ' (2x8=16)

List the tools and equipment used to store and collect the

Municipal Solid waste. ' (CO2)

Differentiate between the Banglore Method and the
- (CO3)

Indore method of composting.
What is a solid waste management hierarchy? Also,
explain various waste prevention and waste reduction

techniques. (CO4)

3) 2207568




Note:

(3020)

Section-D quesfi“ﬁ

qmpt any W0 3 o2
Long answer questions. Attempt A7 (2x846}

out of three Questions.
Discuss the use of waste
products in the production

i rial bY
products and industr!

. 10Ck51 an
of bricks, b (o1

concrete. ; ving
i o of llf’;‘dn‘l71
Describe the role and working princip L .p (COS)
- 1 Oon rO'EClS- 2
equipment in construction p J] din 5011

1 €
What are the different types of Follen S° (CO5)

compaction? Describe their roles.

(4) 220756C

Y

\-No. of Printed Pages : 4 220756C
Roll No. v
5th Sem.
Branch : Civil
Subject : Advanced Construction Technology

Time : 3 Hrs. M.M. : 60
SECTION-A

Note: Multiple Choice Questions. All Questions are

compulsory. (6x1=6)

Q1  The main advantage of steel fibre reinforcement

is: (CO1)

a) Increased compressive strength
b) Increased tensile strength
c) Increased flexibility
d) Reduced weight ,
Q.2 FRPstands for: | (COD
a) Fibre Reéistant Plastic ‘
b) Fibre Reinforced Plasﬁc
¢) FibreRecycled Product
d) Fibre Reinforced Polyethylene

Q3 Whichofthe following vibrators is commonly used for

concrete consolidation in large slabs? (CO2)
a) Internal vibrator b) Surfacevibrator
c) N¢edle vibrator d) Form vibrator

(1 220756C



iy us A
% \!m 1 03 )
Q4 Which cquipnw‘,‘:;? t.:“‘;r ‘rﬂ‘ck p()lc 5‘*‘- \
construction of M py D¢
. - ool ' Scmpcf
ad) p c :;i'!l“ i J)
) Powers ™™ (Coq,
¢) Trenel ’ Qr : ysed for’
Q.5 Gantrycr®®" ?
a) Moving 07 meria st orizontd ¥
orting e
by Transp®
d) pile driving yibratory rollers is: (CO 5)
; furzCliOﬂ ol
Q.6 The maill '
Excavarmg
;)) compactings0il 72 halt
c) Liﬁi'ngheav)’mafeﬂals‘
) Grading Land
Section-B
: uestions. All guesg; .
Note: Objecrfve/ComPJf’tw" type 4 ‘1(6981t|ons
Q.7 Carbon fibres ar¢ mainly used in concrete to 1mp(rg\,e fhe
l cs. o}
properties
_,_——'—’_'_‘— . )
Q.8  Plastics like HDPE and RPVC are used pnmazgy for
| . o1
Q.9 The Tremie method is used for .- i (CO2)
(CO3)

Q.10 Define Prefabrication.
) | 220756C

Towor cranes arc typically uged in the construction of

Q.11
P (CO4)
Q.12 Gradersarc primarilyusedfor (CO5)
Section-C
Note: Short answer type Question. Attempt any eight
(8x4=32)

questions out of Ten Questions.
the properties and applications of

Q.13 Explain R ‘ |
polypropylene fibres in construction. (COl)
Q.14 Whatare the uses of micro-silica in construction?(CO1)

Q.15 What are the benefits of using roller-compacted
concrete in infrastructure proj ects? (CO2)

Describe the process of underwater concreting using the

Q.16 :
Tremie method. (CO2)
Q.17 What is the significance of using geo-synthetics 1in
embankment construction? (CO3)
Q.18 Discuss the construction equipment used in high-rise
building Construction. (CO3)
Q.19 Explain the working of a power-driven scotch derrick
crane. (CO4)
Q.20 How do belt conveyors assist in material handling in
construction? , (CO4)
Q.21 What are the working principles of bulldozers used in
excavation? (COS)
Q.22 Explain the role of compacting equipment in
construction projects. (CO5)
(=) 220756C




¢ of -""‘tid
Q26 What are the cssential T’L“l””cmm“l
coentract’
Q27 Whicashortpotcona ape-time :ii”.dy‘ ) ~'dcm~‘5?
Q28 Whatarcthe ;«hysfalagicdL‘ﬂ“-ﬁc‘-‘ﬂ)'nwff‘ ]S‘(mclfon
Q_jé‘l Give the example of accidents in ¢of
industry, 2
Q.30 Whatarcthe basicﬁmciionsofatractoﬁ. i of
Q.31 What ar¢ the factors affecting select
construction cquipment?
0.32 Decfinc work charge establishment.
(.33 Define accounts and bills.
(.34 What is carnest money and muster roll?
Q.35 Classify the construction industry in detail.
SECTION-D
¢ any tWO

Note: Long answer type questions. Attemp _20)
guestions out of three questions. (2x10

(.36 State conditions for work order.

Why data is collected by the contractor
tendering planning? _

0.38 Describe the important point should be keptin mind
while organizing labour at construction site?

in pre

3340) (4)  180765/120765/030765
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§th Sem / Civil, Brick Tech., Civil Engg
(Spl Highway Engg)

Suhb;
ject:. :
t:- Construction Management and Accounts

lime . 3Hrs

M.M. : 100
SECTION-A

ultiple choice questions. All questions are

Q.1

Q.2

Q.4

“Ompulsory (10x1=10)

Acontractor is the person who will carry out
3)  constructional work b) Relationship

)  Money - d) Noneofthe above
The basic requirement of manis

a) Indusuy b) Food ,

©)  Money d) Noneofthe above

The tota] time to complete the project is known as the
) Advantages of scheduling

b)  Limitation of Scheduling

)  Property of Schedulin g

d) Noneofthe above

The planning between the notification inviting
tender and the submission of bid is

a) Contractplanning b) Pre-tender platining
¢)  Scheduling d) Noneoftheabove

(1) 180765/120765/030765



,sthave common
b) Workmen

d) Noneofthe above
st form of organization jg

Orgamsa!imj mt

a) Eng;zmr

. ]:;* &Er:;&‘i and 031” hibn

. f ction OT anizal n
a [ﬁ:;’ and stafforgad! me c;n

L’me ormilitary organization

eabove .
ion, the first thing requireq ¢ the

b) Labour

d) Noneoftheaboye
standard specification jg

b IS

d) Noneofthe aboye
Wwhen the payment is made .OH a time basig s
system of payment 15 knownl asi)ie |

a) Time rate syste b) C.e rate system
c) real wage systerm d) Nominal wage sy Sy

: flabour:
_ 1eynions create 2 shortage o .
Q.10 Trade % i s

a) Yes
SECTION-B

Q.9

Note: Objective type questions. All questions are
compulsory. (10x1=10)

Q.11 Design is the function of cqnstructlon management,
(2)  180765/120765/030765

Q.12" Afterthe proje

Q.13
Q.14
Q.15
Q.16

Q.17
Q.18

Q.19
Q.20

Note:

Q.21

Q.22
Q.23

Q.24
Q.25

ct is properly planned itis scheduled.
In the execution of a project only @ singleoperation is
to be carried out.
The planning after the acceptance of a tender and
award of a contractis__ .
for increasing

—

Money 1is a great driving

output.
For site organization the first t

detail of plans.
There are system of wage payments.

Process chart is a graphic representation of an

operation analysis.
Proper lighting is essential fo

Safety first speed afterwards.
SECTION-C

Short answer type questions. Attempt any twelve
questions out of fifteen questions. (12x5=60)
What are the important resources of construction
industry?

Enlist drawbacks or limitations of bar charts?

What points must be kept in mind for an effective
planning a construction work?

What are the advantages of function organization?
Enlist the principles of storing and stacking material

hing required is the

r working at night.

at site?
(3)  180765/120765/030765
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Syt Oﬂ'
| qrganizat
: .af e Dd Olg‘
Q.24 Enhst any five requirements of €9 co3)

~ciding
. i 4 when d€€
Q.25 What points should be kept it mind Co.4n
= iy : ‘_ 0
the layout of equipment? e construct!
Q.26 Write a short note on condifi© (CO5)
workers in India? eording
; or recor
Q.27 Which methods arc adopted (CO6)

3L 2sS7? :
I. OgTLSS OfaCCldents'

.28 What are the common causes . ower
3.29 Give the difference between dragline anc fCOS)
shovel. ing
Q.30 Name the common (ypes of earth mngS)
equipment's. (CO9)
Q.31 Define final paymentand cashbook. e 09)
Q.32 Whatare the sources of receipt of money c09)
Q.33 Explain the term deposite works CO6)
Q.34 Explain why progress control is necessary: > (O
Q.35 Whatare the different stages in construction:
SECTION-D WO
Note: Long answer type questions. Attempt 2?33(’):2 0)
questions out of three questions. (  books?
Q.36 What are the different types of measuremen (CO9)
Discuss. ‘
Q.37 Explain the important characteristics 0f ne(tgg;l;
techniques? _ . 4 staff
Q.38 Describe the merits and demerits of lme an )
organization. (
(1980) (4) 180765/ 120765/030765
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Sth Sem / Civil, Brick Tech., Civil Engg
Subje. ( Spl Highway Engg) A
ime . qer Construction Management and Accounts

E M.M. : 100
Note. SECTION-A

. Mulﬁple choice questions. All questions are
Q. -oMmpulsory (10x1=10)

The construction which is done with the help of

®avy timber, Steel is known as (CO1)
3)  Light construction
%) Industrial consfruction
©) Heavy construction
9 d)  Noneofabove
' OrganiZing isthe function of construction ~ (CO1)
a)  Work b) Management
©)  Detail d) Noneofabove

- Q3 :
Q No Project canbe completedbya

a) Single person
¢) Team

Q4 Schedulingisa

(CO1)
b) groupofperson
d) Noneofabove

(CO2)
3)  Mechanical process b) Chemical process
¢)  Financial process d) Noneofabove

(1) 180765/120765/030765
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A 1(‘ d l)}/ n‘”]‘l}
v e are repre Cl S hm“l/
e it
Q.> H?,Lt;u ﬁn‘-!he’»dls o B h))
o (e e!pmh:mi it
2 :’n gruct M :wiivmcs
Consti¥
b
<) Hnrcimm
py  Nont ofabove - e
; packwar j pass stal -
The backws »
i aid O
hmmi'ﬂu) task p) Secondary tagk )
a) Tmhi; ; d) i
g Fmnd {as e
¢ - lint mmmamdl ciph o (COB)
Q.7 The . o o =
g d) Noneofab
¢) Simplicity . z iy .
Tl jocation © equipmen g )
5 e
Qb 7 | | (CO4)
Riv -y SHE b) Stationsite
a) 1VE s
c§ Co pstruction site ) NonsoEboye
Q9 ﬂ]uwaoes mprove :- s (COS)
a) Liv ving standard ) e OfChildren
d -NOne Ofa
c) botha&b ) o

cause of accident. (CO7)

b) Physiological cayge
d) Noneofabove

Q.10 Pooreyes:ghns
a) Phyco]og.ical cause

¢) Physical caus®

(2) 180765/120765/030765

compulsory, (10%1-10)
Q. Inanctwork, time flows {eftto right. (C072)
Q.12 Afer the project s properly planned it 14 scheduled
(COH2)
Q.13 Bar chart is the of planning and
scheduling, (CA)2)
0.14 Function organization is a Lype of organization,
(CO3)
Q.15 Organization has a common poal. (CO3)
Q.16 Sectional drawings should show details of o
(CO4)
Q.17 The site plan gives indications of the north line
| (CO4)
Q.18 Wagesarcof __types. (CO5)
Q.19 The Indian labor is the most efficient in the world,
(CO5)
Q.20 Job diary is the for recording progress.
(CO6)
: SECTION-C
Note: Short' answer type questions. Attempt any twelve
questions out of fifteen questions. (12x5=60)
Q.21 Classify the construction industry in details.  (CO1)
Q.22 What is the importance of construction planning?
: (CO2)
Q.23 Give the comparison between PERT and CPM.
(CO2)

| SECTIHON-IS
Note: Objective tlype gquestions.

Al questions are

(3)  180765/120765/03076!



] d
jer
es of PI*°
Q.28 Define piers and name different typ -begu’if’ g
explain them briefly e ont tYPES of
Q.29 What is bearing? Explain diffe? i
used for the bridge. nd E xplail
Q.30 Write types of maintenance © h
Q.31 Deﬁnz the permanent drainage sys gaded
along witha diagram o of pull B
Q.32 Give advantages and dvisadvantag »
rails e o for 1a jway$
Q.33 Write factors affecting the rou aﬂd
explain in detail i £ rails
Q.34 Wgat are the advantages of welding ©
explain arc welfiing. _ 9
Q.35 Whatis the necessity of point of crossing
SECTION-D il any {two
Note: Long answer type questions. Atte ox] 0;20)
1ve

questions out of three questions: Loepés
Q.36 What are the req‘uirements‘of ideal s.et Pe=
advantages and disadvantages of cgnae etempora
Q.37 Explain the necessity of COHSMCt]ng'tllz\)antage of
bridge. What are the advantage and disa
temporary bridge. &
Q.38 What are various type of investigation
starting the tunnel work. Explain them 11

done befor®
briefly

(2080) 4) 180753/030753/743

180753/030753/743

No, of Printed Pages : 4

‘Rojj

Til’ne :
N Ote:

Q.1

Q12

Q.3

Q.4

No...........

Sth Sem / Civil, Constr, Mgmt, Civil Engg
(Spl Highway Engg)

Subject:- Railways, Bridges and Tunnels
| M.M. : 100

3Hrs.
SECTION-A

Multiple choice questions. All questions are

Compulsory (10x1=10)

The first train was run in India between Bombay and

Thane on

a) 1860 b) 1900

C) 1853 d) 1904

The function of Rail is to provide  path

)  Semi-Ri gid b) flexible

©) Rigid d) Superior

Dog spike is shaped in Section

)  Round b) Square

) Rectangle d) Triangle

Awell maintained track reduce chancesof

b) Square
d) Noneoftheabove

) Buckling
c) Derailment

(1) 180753/030753/743
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@) 180753/030753/743

j Splice rail jy t/

!

Note:

Q.21
Q.22

Q.23
Q.24

Q.25

Q.26
Q.27

SECTION-B
: Objective Lype questions. All 4

uestions are
(10x1=10)

compulsory.
are provided in bridge

In which part abutments

@mﬂaintename fall under
The bearing which allows Jongitudinal Expansion of

bridge girder is called

Inabridge is provided adjacent to abutments

Main function of bridge foundation is to

Double-headed rails are known as

Bull headed rails fail due

Adzing of sleeper is done at the slope of

Distance between rails for broad gaugeis

Full face method used for soils
SECTION-C

Short answer type questions. Attemp

questions out of fifteen questions.

Write the various functions of the railway

Write the advantages and disadvantages of flat-

ofrails

t any twelve
(12x5=60)

footed rails
Explain single slip and cross
Classify the tunnel accor

location _
Name different methods of tunneling and purpose of

lining in the tunnel
What are the requirements and function of fish plates

Define wing walls and their functions
(3) 180753/030753/743
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Sth Sem./ Civil

Subject : Railways, Bridges & Tunncls
M.M. : 60

Time : 3 gy
SECTION-A

Note. Multiple = Choice Questions. All Questions are
compulsory. (6x1=06)

Q.1 Two important Constituents in the Composition of steel
used forrajlare. (COl)

\

a)  Carbon & Sulphur
b)  Manganese & Phosphorous
¢) Carbon & Manganese

d)  Carbon & Silicon
Q2 In broad gauge, the clear horizontal distance between
the inner flanges of two rails formingatrackis- (CO2)

b) 1.00mm

a) 1.676m
d) 1.284m

c) 1.764m
Q3 In which type of bride, the platform of the bridge is
supported by cables (CO3)

a) Deck b) Through

d) None ofthe above

- ©)  Suspension
Q4 Theusefullife oftimber bridge is (CO4)
a) 1-2years b) 25-30years
c) 10-1Syears d) S-10vyears
220753
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mich npe v (C ()S)
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() s 1 ]\M b) Rectanpular type Sh“]’c
3 - gty
porse shot 4) Segpmentalshape

of rock, carth or any Othep

Ql
(CO6)

o soration v

The 2
: jmatcrh

excavattt

a)
&) Dnving

U {?

b) Mucking
) Grouting

Bloanng

SECTI()N-B
pe questions. All question

Note: Ohjccrivc/(?omplction ty (6Xl=6)

’ are compulsory- . 5 e
seter gauge, the clear distance DEIWCEN INC inpe,

e e [e ” . -
Q.7 g:nngcs ftwo rails forming a trace1s (COoy
: Y ; Jastic cushion between .
. e aterial used as an ¢ ’ 5
Qs T?L) pg;:mdthctop of formationis called . (CO])
sleepr '

type bridge is not suitable for a shallo,,

9 : =
. wide river ( 03)
0.10 An shutment SETvVes bothasapier and W D 4)
shaped tunnels arc suitable for carrying
G e — o

water. |
is the art of providing fresh air inside

2 ; '
Q.12 ——Ts during or after their construction. (CO6)

220753

Note:

Q.13
Q.14

Q.15

Q.16

Q.17

Q.18
Q.19
Q.20

Q.21

Q.22

Note:

Q.23

SECTION-C
Short answer type Question. Attempt any eight
questions out of Ten Questions. (8x4=32)

Whatis Gauge in Railways? Explainitstypes.  (CO2)
What arc the requirements of an ideal material for
Ballast? (COT)
Give comparison between flat footed rails and double
headed rails. (COL)
Write the different type of crossings. Explain them

bricfly. (CO2)
Draw the plan and section showing Component parts of
aBridge. (CO4)
Write a short note on lighting of tunnels. (CO6)
Broadly give the Classification of bridges. (CO3)
What are the purpose of providing bearing in a bridge
structure? (CO4)
List different shapes of tunnels & describe any two of
them. (CO5)
What is the difference between a Bridge and a
culvert? (CO3)
SECTION-D
Long answer questions. Attempt any two question
out of three Questions. (2x8=16)
Whatis the need of ventilation in tunnels? |

Discuss different methods of ventilation for tunnels.
(CO6)

220753




Q.37

Q.38

; ~aqd 18 1O be
In a side long pround in cutting, @ hill ;j({{;:ja tenath 0
constructed. calculate the quality of earth wor
200 m. ‘ ¢ th
i) The depth of cutting at Rd-o is 60 cm @
crossslopeofgroundis 8:1.
(i) the depth of cutting at Rd.100 1
crossslope of ground is 10:1
(iii) Thedepth of cutting at Rd. 200 s 1.8m
crossslope of groundis 12:1. i
Formation width is 8m and side slope in cutting 1 2:] o gived
work out the quantities of following item of work fro
figure of aroom 4.80m x 3.60m.
() Excavation for foundation.
(i1) lime concrete in foundation.
(iit) Brick masonry in foundation and Plinth.
(1v) Brick masonry in super structure.

¢ centre and

- and
s [.2m at the centre an

d
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Q.2
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Q4
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_ ~ SECTION-A
Multiple choice questions. All questions are compulsory

_ (10x1=10)
15 prepared on the basis of plinth area of building,
the .rate pe}ng deducted from the cost of similar building
having similar specification, heights and construction in the
locality. "
a)  Cube Rate Estimate b)  Plinthareaestimate

)  Maintenance Estimate d) Supplementa estimate
Thebrickwork is measured sq m)eter iilc;:ge of v
a)  Honey comb brick work
Brick flat soling
¢)  Halfbrick walls
d)  Allofshove

long wall and short wall method of estimate, the length of

1 : .
a(:llzlg wall is the centre to centre distance between the walls

ab) Breadth of the wall
Half breadth of wall on each

¢)  Oneforth breadth of wall on each side
] None ofabove
b ile px:eparing adetailed estimate
O(I)IIn;nsmn should be measured correct to
:’3 : A;fﬁ\l ilould bemeasured correct of 0.01 sqm
o € should be measured correct of 0.01

d)  Allof above

(1) 180763/120763/30763




Q5

Q.14

Q.16
Q.17

A 1 q ”‘/
ﬁ\rt,‘ll” “[?\;LTI;I;]L:I\' R
Thu\mii.nfmcusuwmcnt ' tg M‘é .
) AP 4 g | _
ay S .mdf’:»t - JfDoor and window is in
f‘ Cnl“i::nlk \r ;\g?[‘ﬂﬂﬂ o b) Numbcm
'i‘hcmximt 111;*.;3-\‘ Metre
- - MO e L eofitis takenas
Y :Eijtm"”“‘ml -~umﬂ1€f01 pr’nfﬁ % ‘
c) ; 1f’r3w'“' b)
pnanaly3t’ i 1%
5% . % Iue f N
ﬂ} * 04 i \Vin‘g 1S rh.e va 0 d]s .
) m{-{rﬁ: of the mlif orty atthe end of its utilj an]y,
\\'lu-:h)  puiltup Pt p b) Municipal valye Cliogy
m;rtdzcm value d) Market value
) ::551 S.nge\::z]zmﬁ der, the contractor is requir .
c) Y hmithng i . o
W"JC. :‘;z?; amount with the department as a gUaramee . ;Q
deposit S :
te:f:h?f is I“,"”Ow,mansree b) Earnestmoney
a) ?qﬂﬁﬂgg} i d) IZIIOHIC of these
c) h?‘f; ﬂng]e the bore arc bent to tie Onglmdmal -
AW & !
mcbeam?
a) 45 degree
p) 75degree
0) 50 degree
earee
g 909 GECTION-B
i uesti
Objective type questions. All g ons are Compyjg,
rual estimate is likely to CXCe( éOx I=10)
When found that2¢ exceed more the,,
dmﬂedgszimatca.relmown as__ . :
= o, of estimate cost is addeq ;
esﬁmateforconnngenmes.
Define water ChaIng-t
15 of rate.
Define analysis O . .
Defineof measurement for stone work 18
Define limi ted 'tcnlder‘
Define CSR

(2) 180763/120763/30763

B

Q.18
Q.19
Q.20

Note:

Q.21
Q.22

Q.23
Q.24
Q.25
Q.26
Q.27
Q.28

Q.29
Q.30

Q.31
Q.32

Q.33

Q.34
Q.35

Note:

Q.36

m if the thickness of wall is

Brick wall are measured in sq.

Scrap value is generally % os total cost of

construction.

The total cost of construction of a project including land 1s
called :

SECTION-C

Short answer type questions. Attempt any twelve questions
out of fifteen questions. (12x5=60)
Write down the importance of estimating in field of civil

Engg.
Write short note on contingencies and work charged

establishment.

What are the general rules of measurement?

Briefly explain the center - line method of building estimate.
What is slab culvert ? Explain.

What is overhead costs and its types ?

What is the importance ofrate of analysis ?

Find out dry materials required for 1 m’ ashler stone masonry

in cement mortar 1:5
Find out dry material required for 1 Om’ lime concrete.
Explain the qualities of a good contractor.
What are the disadvantages of lump-sum contracts.
Prepare tender document for R.C,C works
What do you understand by specifications ? What is the
purpose of it ?
What is your's purchase ? Explain.
Explain the'sinking fund' in detail

SECTION-D
Long answer type questions. Attempt any two questions out
ofthree questions. (2x10=290)
Prepare detail analysis of rate for -10m®> Cement concreic
1:5:10 in foundation or floor with brick ballast 40mm thick
gauge assuming the suitable rate of required materials and

manpower.

(3) 180763/120763/30763



Note: Long?
ot of thie

Q.36 Prep?
found

pror

susta
manpow of

Q.37 Define
valuatrond
Calculate the qu
for 100 M Jength ©
car |

Q.38

':rgx)t(‘f!’yp\‘ ]
e qm‘&tmns.
are the analysis

fation W ith “ .

. y.4) for rst MY
sorpomng ¢ ) i ed il
bie Toeal

vajuation 4

chown i fig. . :
s {Ouﬂdm‘o;‘ in cemcnt mo '
60

1)
i)

)

V)

(2280)

FFarthwo ) :
Second class brickwor L
foundation & phmh ) ont ™ :
First class Bn'ckwork in cem™ urfacelﬂ
,\fupcrstrucmrc o

12 mm thick cement Plaster

cement mortar |

L : o
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& valuation

. Subject:- Quantity Surveying .
fime : 3. M.M. : 100
Note, - SECTION-A
! Multiple choice questions. All questions are compulsory
(10x1=10)
fyaluation?

Q.1 Which of the following is the purpose o
a)  Approximate estimation of cost
b)  Taxation
¢) Detailed estimation of cost

Q2 d Analysis of rate
Which of the followin
Sapctioncd estimate exceeds
price?
a) Detailed Estimate b) Plinth Area Estimate
c) Supplementary Estimate

Q3 d) Revised Estimate

3 Which of the following is measured in square meter?

a) Cornice
b) Concrete Work
¢) Shuttering

Q4 ;1)) Steel Bar reinforcement
Deduction at cross wall for total length of the center line

is
a)  Thickness of wall b) Nodeduction
¢) Twicethethickness of wall
Qs %\)/h Half of thickness of wall
s at-percentage of the total cost is added in the cost of
e construction for contingencies?
a) 2% b) 5%
©) 1% d) 15%

(1)  180763/120763/0307¢

g estimate is carried out if the
10% due to change in the




g Ko nearest ¢

Q6 Tuavolumeis measur”
a) 0.1 cum 20
c)  0.02cum s

Q.7  Factorsaffe cmw‘,' nu“’
a) \pmﬂ'”"

b) Rnrcv“”,' M" cment required to pr epa,
¢) quf\);c sho"* /uﬂ" of €€ y fe
d) Alloft e ,’“ s 3200
Q8 The: m{(’“ D S om’ i
10m o r has to deposit wig, .
.}f’rg' p he contr? c, aHoued to him M the
¢c) ,cont™ " gecurity Money
Q g The 1771:2', ’J i, b) Bo[h Cand D
i partile o fon€, .
?j)cﬁ s WW\{{ {onuy ( he end of its useful life wigp -
s o
c)  Re fprop® as
10 The \",I{Ui"{{ f]’cif}s ;mOMT 1})) Scrap Value
Q peing T e d) Junk Value

al u'ml:\' Value ON -B
o) B SECTI  All questions are co;npu]sO

s ofestl
il N m;z%;yp of the ]wab]e area of a building jg know
<
Q2 Thew®
B " prickwork in ceme
3 it 28 aure is measured 1 1
SUP@W 55 ofplastering 10 indoor walls is

)14 Th meostForm
wAbstrac

.15 I?e; rate contractis alsoknown as

16 Thesivets, boltsandnuts aremeasuredin_____

17 ease in the value of property is known, as

§ Gradual decr

nt mortar in 1:5 ;
: n

180763/120763/030763
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Q.19

Q.24

Q.25

Q.26
Q.27

Q.28
Q.29

Q.30
Q.31

Q.33
Q.34

Q.35

The (ype of contract in which the contractor agrees to

exeente the work as per supplied drawings is
The Weight of 12 mm dia mile steel reinforcement per

metrelengthis .
SECTION-C

Short answer type questions. Attempt any twelve

(12x5=60)

questions out of fifteen questions.

What is necessity of making rough cost estimate before

starting any civil engineering project?
Differentiate between plinth area estimate & cubical

content estimate.

Calculate the cost of construction of G+3 building on the
basis of cubical content estimate if the height of each
floor is 3.2 m and the plinth area of building is 1200 m’
and the cost of construction per cubic meter is Rs 3000.
Find out the number of bricks required for a brick
masonry wall 15 mlong, 3.3 m high and 230 mm thick.
Write down the unit of measurement & unit of payment

for the following item of work:
b) R.C.CWork

a) HalfBrick wall
Calculate the dry material required for 50 Sqm of cement

sand (1:5) plaster 15 mm thick.
Write short note on center line method for taking out the

quantmes
Define Specification. Write specification of RCC work.
Find out the dry material for 1 cum of R.C.C work(1:2:4)
having - 1.5% steel.

Explain the steps involved in the analysis ofrates.

What s contract? Explain its basic elements.

Define Valuation and write its method.

Prepare tender document for RCC work.

Write short note on Scrap Value and Sinking Fund

Explain the following :

a) Tender Document b) EarnestMoney

3) 180763/120763/030763
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Section-D

Note: Long answer questions. Attempt any two questiolt
out of three Questions. (2x8=16)

Q.23 Describoe the qualifications and characteristics of a good
contracior. '(CO3)
Q.24 Prepare tender document for construction of an
industrial shed. (CO4)
Q25 Explainreplacement cost & rental return method.(COS5)
t
(4) 220754
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SECTION-A

Note: Multiple Choice Questions. All Questions are

compulsory. (6x1=6)
Q.1 Whichis the most correct estimate? (COly

a)  Cubic method b) Plinth areabasis

¢) Detailed estimate d) Preliminary method
Q.2 The‘_RCC work is calculated for beam, lintels, column,

footing slab etc. is calculated in (CO2)

a) Numbers b) Quintal

¢) Cubicmeter d) Kilogram
Q.3 While submitting a tender, _thé contractor is required to

deposit some amount with the department as a guarantee
ofthetender is known as (CO3)

a) Guarantee b) Eamestmoney

c) Caution money d) Bank g\iarantee

1) 220754



Q.4  Which of the following is not included in tender
documents? (CO4)

a)  Special terms & conditions
b) Contractagreement
¢) Approved drawings
d) Alloftheabove
Q.5  Depreciation value of an assetis equal to (CO5)
a) Cost-Scrapvalue b) Cost+Scrapvalue
c) Costtmarketprice d) Noneofthese
Q.6  Scrap value of the property may be (COS)
a) Positiveonly

b) Constant

c¢) Negative only d) Bothnegative & positive

Section-B 4

Note: Objective/Completion type questions. All questions

- arecompulsory. (6x1=6)
Q.7 When the cost of the estimate exceed 10% or more,
estimate is prepared. (COb)

Q.8 Definelead. (CO2)
Q.9  While submitting tender, the contractor is to deposit 2%
of estimated cost as ; (CO3)-
@ 220754

Q.10 Define unbalanced tender. (CO4)
Q11  Define Scrap value. (CO5)

Q.12 Define valuation. (CO5)
Section-C

Note: Short answer type Question. Attempt any eight
questions out of Ten Questions. (8x4=32)

Q.13 Write down the significance of estimating. (COY) r
Q.14 Explain the steps involved in analysis of rates. (CO2)
Q.15 Describe long & short wall method of finding out
/ quantities. | - (CO2)
Q.16 Writeashortnote oh contract documents. (CO3)
Q.17 Explain the qualities of a good contractor. (CO3)
Q.18 Prepare the tender document for RCC work. (CO4)

Q.19 Prepare the tender document for construction of a small
house. (CO4)
Q.20  What factors affect the valuation of property. (CO5)

Q21 Whatisyearpurchase? Explain. (CO5)
Q.22 Writeanote on "Depreciation of building". (CO5)

(3) 220754




